## कार्यालय प्राचार्य,

## शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला - बालोद (छ.ग.)

Email ID – govtcollegelohara@gmail.com

Tell.No-07748-264001

पत्र क्रमांक / 103% / पो.मैं.छा. / 2020

डौण्डी लोहारा, दिनांक 🗸 02/2020

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला–बालोद (छ.ग.)

विषय :- अनुसूचित जाति/जनजाति/पिछड़ा वर्ग पोस्ट मैद्दिक छात्रवृत्ति 2019–20 की स्वीकृत आदेश जमा करने बाबत्।

-00000-

उपरोक्त संदर्भित विषयान्तर्गत पोस्ट मैट्रिक अनुसूचित जाति/जनजाति/अन्य पिछड़ा वर्ग के <u>नवीन/नवीनीकरण</u> स्वीकृत आदेश KYC सूची आपकी ओर (Sanction order) एवं (Sanction Report) की जानकारी आवश्यक कार्यवाही हेतु प्रेषित हैं।

- संलग्न :- (01) 3 प्रति के Sanction Order
  - (02) 3 प्रति में Sanction Report पोस्ट मैंट्रिक छात्रतृत्ति वर्ष 2019–20 की जानकारी

S.n.	Name of Institution	Block	Institution	Total Sanctioned Student	Total Sanctioned Student in Sanction Report	Sanction Report Total Amount
01	Govt. Eklavya College, Dondi Lohara,Distt Balod C.G.	Dondi Lohara	ins5047	898	898	3557181

नवीन / नवीनीकरण		Total S	Sanctioned Student	in Sanction	n Report	a complete
-1	अजा / संख्या	राशि	अ.जन.जा / संख्या	राशि	अपि. वर्ग / संख्या	राशि
नवीन	24	116798	202	1039354	120	305265
नवीनीकरण	29	131638	303	1410136	220	553990
योग	53	248436	505	2449490	340	859255

ob land and of the state of th

Principal
Govt.Eklavya Collage
Dondil.ohara.Distt.Balod (C.G.)

प्राचार्य प्राचार्य प्राचार्य महाविद्यालय, प्राचार्य प्रकल्प्य महाविद्यालय डॉ.डॉ.टॉ.टॉ.प. जिला-बालाट डॉ.डॉ.टॉ.टॉ.प. जिला-बालाट डॉ.डॉ.टॉ.टॉ.प. जिला-बालाट

## सहायक आयुक्त (आदिवासी विकास शाखा, बालोद) ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति वर्ष 2019—20 अंतर्गत KYC Report की संस्थावार जानकारी (शासकीय)

豖.	संस्था का नाम	संस्था संस्था में कुल का आई. ऑनलाईन आवेदन		संस्था द्वारा कुल स्वीकृत आवेदनों की संख्या			संस्था द्वा	रा कुल स्वीव	वृत राशि	कुल विद्यार्थियों	कुल स्वीकृत	रिमार्क
		डी. नं.	की संख्या	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	की संख्या	राशि	
1	2	3	4	5	6	7	8	9	10	11	12	13
1	शासकीय एकलव्य महाविद्यालय, डौण्डीलोहारा	Ins5047	898	505 .	53	340	2449490	248436	859255	898	3557181	b:

प्राचार्य

श्रीभासकीय एकलव्य महाविद्यालय. श्रीमुद्दीय एकलव्य महाविद्यालय. डॉण्डीलोहारा जिला-बालोद

THE WAS COLOR DONNE

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

## कार्यालय प्राचार्य,

## शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

Email ID - govtcollegelohara@gmail.com

Tell.No- 07748-264001

पन क्रमांक/

/ पो.मैं.छा. / 2020

डौण्डी लोहारा, दिनांक

/02/2020

## वर्ष 2019–20 पोस्ट मैट्रिक छात्रवृत्ति अंतर्गत संस्था के विद्यार्थियों के स्वीकृति आदेशों को डिसबर्स करने हेतु प्रमाण पत्र

प्रमाणित किया जाता है, ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति वर्ष 2019-20 के छात्रवृत्ति हेतु:-

- 1. संस्था द्वारा स्वीकृति किये गये Sanction Order में किसी भी छात्र-छात्रा का दो बार स्वीकृत नहीं किया गया है।
- 2. विद्यार्थी द्वारा वह जिस कक्षा, पाठ्यक्रम एवं जिस वर्ष में अध्ययनरत है, उन्ही पात्र विद्यार्थियों की स्वीकृति की गई 🗐
- समस्त विद्यार्थियों द्वारा प्रविष्टि किया गया खाता नंबर, बैक आई.एफ.एस.सी.कोड, बैंक का सूक्ष्मता से परीक्षण किया गया एवं समस्त प्रविष्टि सहीं है।
- 4. समस्त छात्रों के आय, जाति एवं निवास प्रमाण सहीं है तथा किसी भी छात्र का आय निर्धारित आय सीमा से अधिव नहीं है।
- 5 समस्त छात्रों के आवेदन फार्म में नाम, पिता का नाम, जाति, लिंग, कक्षा, मोबाईल नंबर एवं अन्य समस्त का कार्या सही हैं।
- 6 पिट कोई छात्र—छात्रा को छात्रवृत्ति राशि दों बार भुगतान होता है, तो उक्त छात्र—छात्रा से अधिक भुगतान को किए का वसूली की जिम्मेदारी संस्था की होगी।
- 7. छात्रवृत्ति स्वीकृति में छात्रों के निर्वाह भत्ता, शिक्षण शुल्क एवं अन्य शुल्क के साथ—साथ छात्रावासी, के हार्या का शुल्क इस प्रकार समस्त छात्रों कों देय छात्रवृत्ति राशि सही सही प्रविष्ट की गई है।

संस्था में अध्ययनस्त छात्रवृत्ति हेतु पात्र समस्त आरक्षित वर्ग के विद्यार्थियों के आवेदन फार्म को समस्त अ परीक्षण किया गया है, उक्त छात्र—छात्राओं की स्वीकृति निम्नानुसार है:—

		स्वी	कृत विद्यारि	र्थियों की संख	या			
संस्था का   आई ही	अनु.ज	ानजाति	अनु.	.जाति	अन्य	पि.वर्ग	વહેલ	11 12 11
2112.01	संख्या	राशि	संख्या	राशि	संख्या	राशि	संख्या	राशि
1	2	3	4	5	6	7	8	g
ins5047	505	2449490	53	248436	340	859255	898	3557181

अतः उपरोक्त विवरण अनुसार संस्था द्वारा स्वीकृति कुल 898 विद्यार्थियों को राशि रू. 3557:81.00 (अक्षरी रू. पैंतीस लाख सन्तावन हजार एक सौ ईकयासी रूपये मात्र) डिसबर्स करने की अनुशंसा की जाती है।

दिनांक ..../02/2020



हस्ताक्षर संस्था प्रमुख (प्रावान) सील एवं पदमुदा

Principal
Govt.Eklavya Collage
OondiLohara,Distt.Balod (C.G.)

ment of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State

Government of Chhattisgarh

Sanction Number

N/8/5047/1/9/86808

Sanction Date

27/03/2019

ition ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuisia- F			
722339 S	AJAN KUMAR TANDAN	Male	M. A. /Pol. Science/I		Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	GYASU DESHLAHRE	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	
	ANDHYA MESHRAM		M. A./Pol. Science/I	Fresh	8	530	4240	0	1190		5960
		Female	M. A./Hindi/I	Fresh	9	530	4770	0		1190	5430
	ANCHAN DESHLAHRE	Female	B. Sc./Science/I	Fresh	9	300	2700		1190	1190	5960
	MRITA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300		0	1792	1792	449
	ANDANA NOSURNAME	Female	B. Sc./Science/I	Fresh	10		3000	0	1792	1792	4792
	URESH KUMAR	Male	B. Sc./Science/I	Fresh		300	3000	0	1792	1792	4792
1505679 D	EEPIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	449
1505693 K	RAN NOSURNAME	Female	B. Sc./Science/I	00.0235355	10	300	3000	0	1792	1792	4792
1519095 D	EVNTEEN NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1792	1792	4192
1519372 M	ANISHA JAGNAYAK	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4777
	OMANSHU NOSURNAME	Male		Fresh	10	300	3000	0	1772	1772	4777
	OOJA KHARE	Female	B. A./Arts/I	Fresh	8	300	2400	0	1772	1772	
	HEERAJ MAHESHWARI		B. A./Arts/I	Fresh	10	300	3000	0	1772		4172
	UPESH KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4772
		Male	B. Com./Commerce/I	Fresh	9	300	2700	0	-	1772	4472
	KASH KUMAR RAJETRI	Male	B. Com./Commerce/I	Fresh	10	300	3000		1772	1772	4472
1333348 A	MIT CHOURE	Male	B. A./Arts/I	Fresh	10	300		0	1772	1772	4772
ion :						300	3000	0	1772	1772	4772

Govt.Eklavya Collage

Dondil.Ohara.Distt.Balod (C.G.)

### ction Register for actional strip

nment of Chhattisgarh

BRITHI

Scholarship Scheme Post Matric SC Scholarship

Category SC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number N/8/5047/1/9/86808

Sanction Date: 27/03/2019

Applications Type Fresh

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1563432	KAJAL NOSIRNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	4792
1571358	KARAN KUMAR KAMDE	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	447
1586946	ROMIN BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	
1589256	HIRENDRA KUMAR GAYAKWAD	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772		The second second
						Total:	64780	) (	35606	3560	6 1003



Principal
Govt.Eklavya Collage
OondiLohara.Distt.Balod (C.G.)

### laration :

> (Signature & Seal of Head of the Institution) Name (Capital Leters):

rnment of Chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category

SC

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/1/9/86846

Sanction Date:

27/03/2019

Applications Type

Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
430222	RASHMI GANDA	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
821157	PRATIMA DESHLAHARE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
825837	KAVITA MALEKAR	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1792	1792	4192
833854	Damini Jangde	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1167104	DOMENDRA NOSIRNAME	Male	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	
1202053	BALAKDAS GENDRE	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	1772	1772	4472
	LIKESH KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1263852	BHUPENDRA KUMAR NOSURNAME	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1792	1792	
	CHIKLESHWARI AMDO	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	
1341179	DILESHWARI AMDO	Female	M. A./Hindi/II	Renewal	9	530	4770	0	1190	1190	
1,000	ATUL KUMAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
Carlo Caracteria	DHANRAJ NO SIRNAME	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1777	4172
	BHUPESH NOSURNAME	Male	M. A./Hindi/III	Renewal	9	530	4770	0	1075	107	5 5845
	CHANDRAKANTA JOSHI	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1792	179	2 4192
	SURYAKANT KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	177	2 4172
	ATISH KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	177	2 4172
	Colly Barman	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1792	179	2 4192

#### ation:

(Signature & Seal of Head of the Institution)
Name (Salva Seters):

DondiLohara, Distt. Balod (C.G.)

overnment of Chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category S

SC

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State:

Government of Chhattisgarh

Sanction Number

R/8/5047/1/9/86846

Sanction Date

27/03/2019

Applications Type

Renewal

	, loui-							. + +	. , po		
olication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1439232	RANJANA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4172
1446324	ASHUTHOSH KUMAR RAJETRI	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
1498536	KHILESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	8	300	2400	) (	1777	2 1777	2 4172
1507253	NEHA GAYAKWAD	Female	B. Sc./Science/II	Renewal	8	300	2400	) (	0 179	2 179	2 4192
1512539	GHANENDRA KUMAR MALEKAR	Male	B. Sc./Science/II	Renewal	8	300	240	0	0 179	179	92 4192
1518213	RAKESH KUMAR JAGNAYAK	Male	B. A./Arts/II	Renewal	10	300	300	0	0 177	72 17	72 4772
1523997	PRAVEEN KUMAR NOSURNAME	Male	B. A./Arts/II	Renewal	8	30	0 240	00	0 17	72 17	772 4172
1529262	KARAN KUMAR	Male	B. Sc./Science/II	Renewal	8	30	0 240	00	0 17	792 17	792 4193
1562823	DAMESHWARI TANDAN	Female	B. Sc./Science/II	Renewal	8	30	0 24	00	0 17	792 1	792 419
1593094 V	/ARSHA MESHRAM	Female	B. Sc./Science/II	Renewal	8	30	00 24	00	0 1	792 1	1792 419
						Tota	1: 754	80	0 45	391 4	5391 1208

### tion:

(Signature & Seal of Head of the Institution)

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category . S

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

Action of the Control			and the second second					. Type . Item		
olication ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1512548 DINDAYAL NOSURNAME	Male	B. A./Arts/II	Renewal	Month	200	Allowance				
1368617 BASANTI NO SURNAME	Female	B. Sc./Science/III	Renewal	9	300	2700		1712	1712	the state of the s
1357929 CHANDRAKALA NO SURNAME	Female	B. Sc./Science/III		9	300	2700		1742	1742	
1291162 KUMESHWARI THAKUR	Female	B. A./Arts/III	Renewal	9	300	2700		1742	1742	4442
1534835 HIMA RANA	Female	B. A./Arts/II	Renewal	9	300	2700		1712	1712	4412
1498698 KHUSHBU NOSURNAME	Female		Renewal	9	300	2700	0	1712	1712	4412
1498683 CHAMELI NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1498713 RITESHWARI NOSURNAME		B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	441
1576995 NANKI NO SURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	441
	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	441
1490984 GOVINDA NOSURNAME	Male	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	2 444
1370362 MANISHA RANA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	2 441
1369501 TIKESHWARI NO SURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0		1712	
1495581 SHRADDHA BARSEL	Female	B. A./Arts/II	Renewal	9	300	2700	0			
1627700 PREMNANDINEE NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700		1712	171	
1487852 TOMIN NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700		1712		
1449268 SHUSHMA SAHARE	Female	B. Com./Commerce/II	Renewal	9	300	2700	7			
1386956 HEENA NO SIRNAME	Female	M. A./Pol. Science/II	Renewal	9	530				o	
			, and the same of	-	530	4770	0	2092	209	68

### **Declaration:**

Place: Dondizalara Date: 2010112020

15-1

Principal

(Signature & Seal of Head of the Institution)
Nacre (Capital Letters) Collage

DondiLohara, Disstt. Balod (C.G.)

Govt. Eklavya-Gollage

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

R/9/5047/2/7/92873 Sanction Number:

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
715538 BHUNESHWARI KUMARI	Female	M. A./Pol. Science/II	Renewal	MOITUT 8	530	4240	0	2092	2092	6332
1558112 CHANDANI PRADHAN	Female	M. A./Hindi/II	Renewal	9	530	4770	0	2092	2092	The State of the S
1515638 YADO RAM	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	6862
1439709 RADHIKA KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1440353 VEENA KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712		4412
1575093 DANESHWARI MANKAR	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	
1596352 PURNIMA RAWTE	Female	B. A./Arts/II	Renewal	q	300	2700	0			
1649606 DIPIKA DEHARI	Female	B. Com./Commerce/III	Renewal	9	300	2700	0		1712	
1525970 JYOTI GOTAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712 1712	
1645715 SAROJ KOMA	Female	B. A./Arts/III	Renewal	9	300	2700	0			
1709213 KARUNA NOSURNAME	Female	B. Sc./Science/III	Renewal	9	300	2700	0		1712	
1436668 TULESHWARI NO SURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0		1742	
1488501 KESU RAM.	Male	B. Sc./Science/II	Renewal	9	300	2700			1712	
1712632 LAL SINGH .	Male	B. Sc./Science/II	Renewal	9	300	2700			1742	
1339182 RUPESH KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700			1742	
1584842 DEVKI THAKUR	Female	B. A./Arts/III	Renewal	9.					1712	
1363997 KHEM RAWTE -		M. A./Economics/II	Renewal	8	300	2700				
952982 HARICHAND TARAM		M. A./Economics/II			530	4240				2 633
TAICH TAICH	riale	M. A./ECOHOMICS/II	Renewal	9	530	4770	0	2092	209	2 686

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal Govt. Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

(Signature & Seal of Head of the Institution)

### Summer of the section of sectional SHIP

Severnment of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category:

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2019-20 State: Government of Chhattisgarh

Sanction Number :

R/9/5047/2/7/92873

Sanction Date :

04/01/2020

optication ID Student Name							Applications	Type: Ren	ewal	
1599660 SANDHYA NOSURNAME	Gende	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	441
862220 RITU NOSIRNAME	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	2092	2092	686
1163848 SUNITA NOSIRNAME	Female	M. A./Pol. Science/II	Renewal	8	530	4240	0	2092	2092	Marine -
1543477 TOMESHWARI SHIVNA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712		6332
1572131 CHAMELI NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0		1712	4412
1497938 CHANDRA SHEKHAR	Male	B. Com./Commerce/II	Renewal	8	300	2400		1712	1712	4412
887754 RENUKA KUMARI	Female	B. Sc./Science/III	Renewal	9	300		0	1712	1712	4112
614420 PREMPRAKASH NAYAK	Male	M, A./History/II	Renewal	8	530	2700	0	1742	1742	4442
675077 SONIYA PISDA	Female	M. A./Pol. Science/II	Renewal	9		4240	0	2092	2092	6332
679292 Sonali Ratre	Female	M. A./Hindi/II	Renewal	9	530	4770	0	2092	2092	6862
685887 REEMA TEKAM	Female	M. A./Hindi/II	Renewal		530	4770	0	2092	2092	6862
714877 MANOJ KUMAR DHANGUN	Male	M. A./History/II	Renewal	9	530	4770	0	2092	2092	6862
717745 KHOMIN KUMARI	Female	B. Sc./Science/III	Renewal	8	530	4240	0	2092	2092	6332
732056 ASHA RAWTE	Female	M. A./Pol. Science/II	Renewal	9	300	2700	0	1742	1742	4442
734490 JITENDRA KUMAR RANA	Male	M. A./Economics/II	Renewal	8	530	4240	0	2092	2092	6332
816357 Khem Lal Churendra	Male	B. Com./Commerce/III	Renewal	8	530	4240	0	2092	2092	6332
822115 KHEMLAL THAKUR		B. Sc./Science/II		9	300	2700	0	1712	1712	4412
831038 KARAM CHAND NO SURNAME	12212	B. A./Arts/III	Renewal	8	300	2400	0	1742	1742	4142
tion :		o. A/Aldylli	Renewal	9	300	2700	0	1712	1712	4412

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

late :

Principal Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.) (Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date : 04/01/2020
Applications Type : Renewal

pplication	ID Student Name			MARKET COMMENTS				Applications I		-	
трисвани	10 Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee 0	ther Fee	Total Fee	<b>Total Amount</b>
8593	894 LATA NO	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	444
8594	04 POKHAN SINGH	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	444
8678	64 LUKESHWARI AMLA	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1742	1742	414
110794	42 PARMESHWAR KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	441
134117	O SURENDRA KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	441
133127	7 DILESH KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	441
132846	0 MORAJDHWAJ NO SURNAME	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	441
1322960	UMESH KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	
1007823	RAMDAS THAKUR	Male	M. A./History/II	Renewal	8	530	4240	0	2092	2092	633
1124267	NARENDRA KUMAR	Male	M. A./Hindi/II	Renewal	8	530	4240	0	2092	2092	
1139696	SHASHI THAKUR	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	-
1142740	ROMAN LAL	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	444
1144320	LAV KUMAR DEVHARI	Male	M. A./Hindi/II	Renewal	8	530	4240	0	2092	2092	633
1149173	DEEPAK KUMAR	Male	B. Com./Commerce/III	Renewal	- 9	300	2700	0	1712	1712	44
1153367	MEENESHWARI NO SARNAME	Female	M. A./Hindi/II	Renewal	9	530	4770	0	2092	2092	68
1158452	GEETANJALI THAKUR	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	44
1161495	TIKESHWARI KUMARI	Female	M. A./Pol. Science/II	Renewal	9.	530	4770	0	2092	2092	68
1161967 A	NUSUIYA NARENDRA	Female	M. A./Pol. Science/II	Renewal	8	530	4240	0	2092	2092	2 63

### **Declaration:**

Place:

Date :

Em 07-3

11-2

(Signature & Seal in ale of the Institution)

Neme (Capitallletons Collage Candi Lohara, Disstt. Balod (C.G.)

Principal
Govt.Eklaw Sensing is generated by Scholarship Portal. Printed on 1/8/2020

DondiLohara Distt Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

Government of Chhattisgarh

Sanction Number:

R/9/5047/2/7/92873

Sanction Date:

Applications Type: Renewal

Application ID	Student Name		City Bulletin Control					Applications	Type: Ren	ewai	
		Gend	er Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
The second second second second	MESHWARI NOSIRNAME	Female	M. A./Hindi/II	Renewal	9	530	4770		2002		
1203676 VE		Male	M. A./Pol. Science/II	Renewal	8	530		0	2092	2092	6862
The second second second second	RAUNDI KUMARI	Female	B. Sc./Science/III	Renewal	9		4240	U U	2092	2092	6332
F 1495	INKAL KUMARI	Female	B. A./Arts/III	Renewal		300	2700	0	1742	1742	4442
1370295 DEV	KUNWAR KUMARI	Female	B. A./Arts/III		9	300	2700	0	1712	1712	4412
1370184 TAM	ESHWAR LAL NO SURNAM	1E Male	M. A./Hindi/II	Renewal	9	300	2700	0	1712	1712	4412
1369526 PRIY	ANKA NO SURNAME	Female	B. Sc./Science/III	Renewal	8	530	4240	0	2092	2092	6332
1366601 KIRT	I DHANENDRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1742	1742	4442
1363174 URMI	LA NO SIRNAME	Female		Renewal	9	300	2700	0	1712	1712	4412
1363173 PREE		Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
	AN LAL THAKUR		B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1361581 NAREN		Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	
		Male	M. A./Hindi/II	Renewal	8	530	4240	0	2092	2092	
1361014 RAVINA		Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	
1360967 GODAV		Female	B. A./Arts/III	Renewal	9	300	2700	- 0	1712		
1360800 VEENA	The same of the sa	Female	B. Sc./Bio Technology/III	Renewal	9	300	2700	0	7/2	1712	
1357890 TRILOCI	HAN NO SURNAME	Male	B. Sc./Science/III	Renewal	9	300			1742	1742	
1355858 MOHAN	KUMAR	Male	B. A./Arts/III	Renewal	9		2700	0	1742	1742	444
1350027 CHAMPA	NO SIRNAME	Female	B. Sc./Science/II	Renewal		300	2700	0	1712	1712	441
on :			o, ocquarico/II	Kellewal	8-	300	2400	0	1742	1742	414

### **Decla**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected

Place: Date :

Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1349837 H	EMLATA NO SURNAME	Female	B. Sc./Science/II	Renewal	Month 9	300	Allowance 2700	0	1742	1742	
	HANDRAPRAKASH SINGH ANDAVI	Male	B. A./Arts/III	Renewal	9	300	2700	0	1742 1712	1742 1712	4442
1538139 DU	JSHYANT NOSURNAME	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4413
1543229 MA	LESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712		4412
1543266 DE	VENDRA NOSURNAME	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1543401 BH	OLA RAM	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712 1712	4412
1543424 CHO	OMESHWAR LAL	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	
1543497 ANJ	LIKA THAKUR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1543888 PAD	MAWATI NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1712	
1544019 DEV	ANAND NOSURNAME	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1742	1742	4442
1544236 SATE	RUPA THAKUR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4142
1348341 TULA	S RAM	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1552320 SOM/	AN LAL	Male	B. Com./Commerce/II	Renewal	9	300	2700		1712	1712	
1553544 KIRT	IBALA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1712	
1553605 LINGS	ESHWAR NOSURNAME	Male	B. A./Arts/II	Renewal	8	300	2400				
1554640 REEM	A HIDKO	-	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	
1562273 PRATI	MA PRATIMA	4	B. Sc./Science/II	Renewal	8	300	2400	0	1712	1712	
		111111111111111111111111111111111111111		1.0.0.0	•	300	2400	U	1742	1742	414

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

DondiLohara, Distt.Balod (C.G.)

(Signature & Seal of Head of the Institution) Name (Capital Letters) Collage

Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1562817 BHI	UVAN LAL	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1346631 LAT	A KUMARI NO SURNAME	Female	M. A./Pol. Science/II	Renewal	8	530	4240	0	2092	2092	6332
1565028 JAY	SHRI NOSURNAME	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1566742 NEH	A NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1571742 PEEL	LESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1575149 GEE	TA GAVRE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1575849 PAW	AN KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1579108 KUMI	LESHWARI NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1581227 RUPA	LI RANA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1581733 BHOJ	PRASAD	Male	B. A./Arts/II	Renewal	8	300	2400	0.	1712	1712	4112
1585288 HUME	SHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1586266 YOGES	SHWARI BHUARAYA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1586823 CHHAC	GAN LAL	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1594241 NAMRA	ATA RANA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	444
1346549 SOHAN	I LAL	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4417
1594373 DUMES	HWARI GORE	Female	B. A./Arts/II	Renewal	9.	300	2700	0	1712	1712	
1594635 LILESH	RAWTE	Female	B. A./Arts/II	Renewal	9	300	2700	- 0	1712	1712	
1595557 LAKESH	KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	

### **Declaration:**

Place :

Principal

Female-12-1
make - 06

(Signature & Seal in Head of the Institution)

Name Capital Leters Collage

DondiLohara, Disstt. Balod (C.G.)

Govt. Eklavya Collage

Dondi Lohara, Distt. Balod (C.G.)

Scholarship Scheme:

Government of Chhattisgarh

Government of Chhattisgarh

Sanction Number:

R/9/5047/2/7/92873

Applications Type: Renewal

Sanction Date: 04/01/2020

Academic Year: 2019-20

Category: ST

Post Matric ST Scholarship

Institute Name: Aklavya College Doundilohara Distt.Balod

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1596650	VEDIKA THAKUR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1598946	KAMLA BHUARYA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1657953	JAYANT KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1345194	RAN JANA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1648974	DEEPCHAND KHARE	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1638549	LOCHAN NO SURNAME	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1342244	KU BHUWAN	Female	B. A./Arts/III	Renewal	9	300	2700		1712	1712	4412
1311977	SUMAN THAKUR	Female	M. A./Economics/II	Renewal	9	530	4770	) (	2092	209	2 6862
1306102	TULESHWAR NO SURNAME	Male	B. A./Arts/III	Renewal	9	300	2700	) (	1712	171	2 4412
1429646 N	MAMTA NO SURNAME	Female	B. Sc./Science/III	Renewal	9	300	2700	) (	1742	174	2 4442
1429253 P	OONAM RAWTE	Female	B. A./Arts/III	Renewal	9	300	2700	0	0 1712	171	2 4412
1426955 Y	OGENDRA KUMAR	Male	B. Sc./Science/III	Renewal	9	300	270	0	0 1743	2 174	12 4442
1424229 S	HANTI KALA	Female	B. Com./Commerce/III	Renewal	9	300	270	0	0 171	2 17	12 4412
1423850 O	M PRAKASH	Male	B. Sc./Science/III	Renewal	9	300	270	0	0 174	2 17	42 4442
1423309 KI	UMARI KAVITA	Female	B. A./Arts/III	Renewal	9	300	270	0	0 171	2 17	12 441
1420425 H	INA KUMARI	Female	B. Com./Commerce/III	Renewal	9	30	0 270	00	0 171	.2 17	112 441
1419879 TI	KESHWARI NO SURNAME	Female	B. Sc./Science/III	Renewal	9	30	0 270	00	0 174	12 1	742 444
1419800 BH	IUPENDRA KUMAR	Male	B. Sc./Science/III	Renewal	9	30	0 270	00	0 17	42 1	742 44

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Female-11-1

made-07

(Signature & Seapof Head of the Institution) Dondi Lohara, Disstt. Balod (C.G.)

Principal Govt. Eklavya Collage DondiLohara Diett Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

Sanction Number:

R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1419643	PREETI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1414177	OMESH KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1411990	MORAJ KUMAR	Male	M. A./History/II	Renewal	8	530	4240	0	2092	2092	6332
1410977	YOGESH KUMAR	Male	M. A./Hindi/II	Renewal	9	530	4770	0	2092	2092	6862
1408395	BHUNESHWARI MANDAVI	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1408303	PARMANAND PISDA	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1404967 k	CAJAL KOSMA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1403293 N	MADHURI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1401632 R	AJESHWARI NO SURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1401261 M	IENKA RATRE	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1399563 B	HIKHAM KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1395864 K	AMLESHWARI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1390655 SA	AVITRI NO SIRNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1387359 LO	DMESH KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1386528 M	AMTA KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1386475 FA	ANESHWARI KUMARI	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1386398 M	INAXI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1492375 OI	MAN SINGH	Male	B. Sc./Science/II	Renewal	9	570	5130	0	1742	1742	6872

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal

Female- 11

male - 07-2

(Signature & Seal of mead of the Institution) Name (Kanitalitete Collage

ondiLehara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Application ID Student	Nama						Applications	s Type: Ren	ewal	
		Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1492298 IQBAL NOSURNA	ME Male	B. A./Arts/II	Renewal	9	570		0	1712	1712	COAD
1490882 DIVYA ARYA	Female	B. Sc./Science/II	Renewal	9	300		0	1712	1712 1742	6842
1490369 LEELA NOSURNAM	ME Female	B. A./Arts/II	Renewal	9	300		0	1712	1712	4442
1490362 DILESHWARI NOS	SURNAME Female	B. A./Arts/II	Renewal	9	300		0	1712	1712	4412 4412
1490343 JYOTI NOSURNAN	1E Female	B. A./Arts/II	Renewal	9	300		0	1712	1712	4412
1489783 DEVENDRA KUMAR	R BHUARYA Male	B. A./Arts/III	Renewal	9	300		0		1712	4412
1489418 BHOLA RAM	Male	B. Sc./Science/II	Renewal	9	300		0	1742	1742	4442
1488987 DEEPIKA KOSMA	Female	B. A./Arts/II	Renewal	9	300		0	1712	1712	4412
1492399 KHEM NARAYAN	Male	B. A./Arts/II	Renewal	9	570	5130	0	1712	1712	6842
1492627 MEENAKSHEE NOS	SURNAME Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1493017 KIRAN KOSMA	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1493743 MOHINEE KOSMA	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1494274 SULOCHANA DUGG	SA Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1488388 REENA NOSURNAM	IE Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1495290 KUMARI TAMESHW		B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1495883 BHUMIKA KOSMA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1496001 NEELAM THAKUR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1488385 SOMIN NOSURNAM	and the second second	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4417

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been ken succepts in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular schools stipe of the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Principal Date : Govt. Eklavya Collage DondiLohara Distt.Balod (C.G.)

remale-14
ncipal
avya Collage Marle-04

(Signature & Seal of the Institution) Name (Capital Extens) Collage
Tondi Cohara, Dissit, Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

04/01/2020 Sanction Date:

Applications Type: Renewal

Application ID	THE RELEASE OF THE STATE OF THE	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1496133	KAVITA GANWRE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1496532	GIRJA KHARE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1488379	RENUKA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1498000	NIRUPA NOSURNAME	Female	B. Com./Commerce/II	Renewal	9.	300	2700	0	1712	1712	4412
1487283	GAYTREE KULARYA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1498216	RAMESHWAR NOSURNAME	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1498846	PRATIBHA NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1500547	DAMINI CHANAP	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1500705	GAYATRI JAMDAR	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1502003	RAGHUVIR KHARE	Male	B. A./Arts/II	Renewal	9	300	2700	. 0	1712	1712	4412
1503269	JAGESHWARI RANA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1505592	MANJU NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1508437	KAMINEE NO	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1508442	HASEENA KOMA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1508737	CHANDNI NAYAK	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1486501	MAHIMA KRIPAL	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1508784	AGESHWARI GHAWDE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1508932	DILESHWARI THAKUR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Principal Govt. Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

Female-16

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Sanction Number: R/9/5047/2/7/92873

04/01/2020 Sanction Date:

Applications Type: Renewal

olication ID Student Name	Cartha			Terrana I			Applications	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
CHARLES OF THE STATE OF THE STA	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1510462 LALITA KRISHAN	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1512371 NEHA GANWARE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1486252 PRAVEEN KUMAR NOSURNAME	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	1712	1712	Tip to the same of the same
1512409 MANISHA KHARE	Female	B. A./Arts/II	Renewal				1011000			4412
1512635 AMBALIKA PISDA	Female	B. A./Arts/II		9	300	2700	0		1712	4412
1514183 SUNAINA THAKUR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1712	1712	4412
1512566 VIDAY KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1742	1742	4442
1515667 SHAILESH NOSURNAME	Female		Renewal	9	300	2700	- 0	1712	1712	4412
1514533 KALPANA NOSUBNASS	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	444
1515574 PREETT NOCHBURNE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	441
1512423 NANDINI DAMEE		B. A./Arts/II	Renewal	9	300	2700		1712	1712	
1515694 TRIVENT KUMARI	Female	B. A./Arts/II	Renewal	9	300	2700		1712		
1524430 MORATOUWAL MANIE AND	Female	B. A./Arts/III	Renewal	9	300	2700		1712	100	
1524310 VAMINIT NOCHENANS	Male	B. A./Arts/II	Renewal	8	300	2400				
The state of the s	Female	B. Sc./Science/II	Renewal	9	300			171:		2 41:
	Female	B. Sc./Science/III	Renewal	9	300	270		0 174	2 174	2 44
	Male	B. A./Arts/II	Renewal	9	1,1-0,	2700	-	0 174	2 174	2 44
	Male	B. A./Arts/III	Renewal	-	300		)	0 171	2 171	12 4
1483819 RAJESHWARI NETAM	emale	B. A./Arts/II		9	300	270	0	0 171	12 17	
tion:			Renewal	9	300	270	0	0 17		12 4

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date :

Female - 13

(Signature & Seal of Charles of the Institution)

Principal Govt. Eklavya Collage DondiLohara Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type : Panewal

Application ID								Applications	s Type: Ren	ewai	
Company of the last	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1483333	DEVDHAR BHAUSARYA	Male	B. Sc./Science/III	Renewal	Month	300	Allowance 2700	0	1742	1742	4442
1482608	SHEETAL KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700		1712	1712	
1482503	HEMENDRA KUMAR KOSMA	Male	M. A./History/II	Renewal	9	530	4770		2092	2092	6862
1166234	DOMESHWARI NOSIRNAME	Female	M. A./Economics/II	Renewal	8	530	4240		2092	2092	6332
1534786	PREMCHAND BHANDARI	Male	B. A./Arts/II	Renewal	9	300	2700		1712	1712	4412
1533679	BHAGWATI NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	
1533594	TARUN NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1532644	TILOK KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1532233	RAJESHWARI SAHARE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1529154	AARTI NOSIRNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1526690	TIKESHWAR KARAT	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1526402	KRITI RANA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1522837	DEVPRASAD RAWTE	Male	M. A./Hindi/II	Renewal	8	530	4240	0	2092	2092	6332
1522079	KAPOOR CHAND	Male	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1521470	GANGLESH NO	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1521115	YUGESHWARI KERAM	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1521002	NEETA RAWTE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1520993	SADHANA THAKUR	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

> Principal Govt: Eklavya Collago

Female - 10-1 male - 08-1

(Signature & Seal of Head of the Institution)

Dondi Lohara, Disstt. Balod (C.G.)

DondiLohara, Diett.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

R/9/5047/2/7/92873 Sanction Number:

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID	olication ID Student Name								Type . Ren	* In 1818	
	The same of the sa	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1520272	GOMATI NA	Female	B. Sc./Science/II	Renewal	Month 9	300		0	1742	1742	444
1517633	JAGESHWARI NOSIRNAME	Female	B. Sc./Science/II	Renewal	9	300		0	1742	1742	444
1516175	JUGAL KISHOR	Male	B. A./Arts/III	Renewal	9	300		0	1712	1712	441
1515910	MADHVI NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1515838	OMKAR NOSURNAME	Male	B. Com./Commerce/II	Renewal	9	300		0	1712	1712	4412
1515830	THANESHWARI NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	4442
1480369	CHETNA NOSURNAME	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1478339	DEVENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1477413	THANESH KUMAR	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1476764	SUSHEEL KUMAR	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1683068	BHUPENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1680059	PRATIBHA NOSURNAME	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1676997	KUMARI LAXMI	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1674670	ALKA NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1674628	KAREENA NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1673010	GESHLATA KERAM	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1672428	PRIYANKA THAKUR	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1667109	MAMTA GHARENDRA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal Male-06

eters): lara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type Renewal

Application ID	THE RESERVE OF THE PARTY OF THE	Name of the last o					Applications Type : Renewal					
	Student Name	Gender	Course	Туре	No. of	Rate		Tuition Fee	Other Fee	Total Fee	Total Amount	
1666332	YOGENDRA KUMAR	Male	B. A./Arts/II	Panawal .	Month	200	Allowance 2700	0	1712	1712	4412	
1639149	DEVENDRA NARAYAN	Male	B. A./Arts/II	Renewal	9	300				1712	4112	
1637086	JAYPRAKASH RAWTE	Male	B. A./Arts/II	Renewal Renewal	8	300 300	Section 2			1712	4112	
1636966	VANDANA THAKUR	Female	B. A./Arts/III	Renewal	9	300	300000	A Desired Street		1712	4412	
1219449	SANGITA KUMARI	Female	B. A./Arts/III	Renewal	9	300					4412	
1219465	RENUKA KUMARI	Female	B. A./Arts/III	Renewal	9	300			1712	1712	4412	
1266381	ISHA PISDA	Female	B. A./Arts/III	Renewal	9	300	2700	0	0 1712	1712	4412	
1268041	VINOD KUMAR AMLE	Male	B. Sc./Science/III	Renewal	9	300	270	0	0 1742	1742	4442	
1269141	SUNTEE NETAM	Female	B. A./Arts/III	Renewal	9	300	270	0	0 1712	2 1713	2 4412	
1269553	TEEKESHWARI THAKUR	Female	B. Com./Commerce/III	Renewal	9	300	270	0	0 171	2 171	2 4412	
1274850	DIGESHVAR LAL NO SIRNAME	Male	B. Sc./Science/III	Renewal	9	300	270	10	0 174	2 174	2 4442	
1279829	JHAMIT BHURYA	Female	B. Sc./Science/III	Renewal	9	300	0 270	00	0 174	2 174	4442	
1284061	MANGAT RAM	Male	B. Com./Commerce/III	Renewal	9	57	0 513	30	0 171	12 171	12 6842	
1287710	TIKESHWARI MANDAVI	Female	B. A./Arts/III	Renewal	9	30	0 270	00	0 17:	12 17:	12 4412	
1371032	MANITA NO SIRNAME	Female	B. A./Arts/III	Renewal	9	30	0 27	00	0 17	12 17	12 4417	
1372973	DULESVARI KUMARI NO SURNAME	Female	B. Com./Commerce/III	Renewal	9	30	00 27	00	0 17	12 17	12 441	
1375104	REENA KUMARI	Female	B. A./Arts/III	Renewal	g	30	00 27	700	0 17	12 17	712 441	

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular spin/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal
Govt. Ekklavya Collage male - 06 DondiLohara Distt Balod (C.G.)

(Signature & Seal of the ad of the Institution) Name (Capital Leter Oollage

Govi.Extravera L.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

								/ ippiloations			
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1377851 DULAU	RI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1378457 GEND	KUNWAR	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1380532 TIKESH	WARI KUMARI	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1742	1742	4142
1381342 BHUNE	SHWARI KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1432519 LEKHAN	NI THAKUR	Female	B. Com./Commerce/III	Renewal	9	300	2700	0	1712	1712	4412
1451805 NOMITA	A KUMARI	Female	B. Com./Commerce/III	Renewal	9	300	2700	0	1712	1712	4412
1535818 TUMEN	DRA KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1535840 BHUWA	N LAL	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	4412
1601956 NEHA	NO	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1617171 NANDA	NI CHURENDRA	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1617412 DANESH	IWARI M	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1620294 BHEEMA	NO SURNAME	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1622443 KU KOM	1IN	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1624001 SEEMA	RAWTE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412
1624206 MAHESH	WARI NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1631448 YOGESH	WARI NOSURNAME	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1630189 HEERAM	ATI NARVAS	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1742	1742	4142
1630516 CHANDR	IKA NAYAK	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4412

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

Principal

Female-16 Male -02

(Signature & Seabof Head of the Institution) Name (Cenital Heters) Collage Yondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date : 04/01/2020

Applications Type: Renewal

pplication ID Student N	ame Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1704584 PRIYANKA PRADHA	N· Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1702429 RITU DEVHARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1736380 PANNA LAL	Male	B. Sc. (Hons.)/Zoology/II	Renewal	8	300	2400	0	1742	1742	4142
1729292 RADHIKA BHUARYA	Female	B. A./Arts/II	Renewal	. 8	300	2400	0	1712	1712	4112
1716006 YUWATI THAKUR	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1714998 GARIMA CHANDEL	Female	B. A./Arts/III	Renewal	9	300	2700	. 0	1712	1712	4412
1710112 GEETANJALI NO	Female	B. Com./Commerce/II	Renewal	8	300	2400	0	1712	1712	4112
1709119 CHANDRA PRABHA	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1699547 ISHWAR LAL	Male	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1686674 MADHU NOSURNAMI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4112
1618046 TRIPTI BHAURYA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1219436 HEMLATA RAWTE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1219424 RESHMA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	4117
1219416 MENKA KUMARI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	441
1212518 YUGESHWARI nosum	ame Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	444
1202774 GOVIND RAM	Male	M. A./History/II	Renewal	8	530	4240	0	2092	2092	633
1170558 TIKESHWARI NOSIRN	AME Female	M. A./Hindi/II	Renewal	9	530	4770	0	2092	2092	2 686

### **Declaration:**

Place :

Principal

Female - 14-1 male - 03-1

(Signature & Seal of Head of the Institution)

Name pita (Deters) lavya Collage

Nondi Lohara, Disstt, Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

92873

State: Government of Chhattisgarh

Sanction Number: R/9/5047/2/7/92873

Sanction Date: 04/01/2020

Applications Type: Renewal

Total:

874060

0

531664

531664

1405724



Principal
Govt.Eklavya Collage
Dondil.ohara.Distt.Balod (C.G.)

### **Declaration:**

Place: Dohosi Lohary Date: 20101 12020 (Signature & Seal of Head of the Institution)

HondiLohara Disett Polarice

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

oplication ID							Applications Ty	pe: Fres	h	
The state of the s	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee Ot	her Fee	Total Fee	Total Amount
499164 KAVITA NO	Female	M. A./Economics/I	Fresh	8	530	Allowance 4240	0	2002		
558036 Mohan lal Thakur .	Male	M. A./Pol. Science/I	Fresh	9	530	4770		2092	2092	6332
737828 MANJU KUMARI	Female -	M. A./Pol. Science/I	Fresh	9	530	4770		2092	2092	6862
820743 NAGESHWARI BHANDARI	Female	M. A./Hindi/I	Fresh	9	530	4770		2092	2092	6862
837722 OM KUMAR RAWTE	Male	M. A./Pol. Science/I	Fresh	9	530	4770		2092	2092	
841704 BHUNESHWARI DAHARE	Female	M. A./Pol. Science/I	Fresh	9	530	4770		2092	2092	
841831 SANDHYA KUMARE THAKUR	Female -	M. A./Hindi/I	Fresh	9	530	4770		2092	2092	
928012 DOMESHWARI KUMARI	Female ,	M. A./Economics/I	Fresh	9	530	4770		2092	2092	
931379 BHAGIRATHI KOSMA	Male	M. A./History/I	Fresh	9	530			2092	2092	Type delication and
934775 MOHIT MANKER	Male	M. A./History/I	Fresh	9	530		and the state of	2092		
951837 GOUCHARAN CHANAPE	Male	M. A./Economics/I	Fresh	9	530			2092		GO HANDERS
986890 OMIN NONAME	Female	M. A./Hindi/I	Fresh	9	530			2092	4-4-5-511-	
989370 SAVITA NONAME	Female-	M. A./Pol. Science/I	Fresh	9	530		4	2092		
1015243 NITESHWARI NO	Female .	M. A./Hindi/I	Fresh	9	530	1,520		2092		
1161703 RENUKA THAKUR	Female -	M. A./Pol. Science/I	Fresh	9	530			2092		
1165314 SUREKHA ORENDRA	Female *	M. A./Economics/I	Fresh	9	530			2092		
1240762 LUKESHWARI NOSIRNAME	Female	M. A./Hindi/I	Fresh	9	530		reference of the second	2092		and the second
								-		

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ony other regular scholarship/stipend recommendately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

lace: Donal Lohara ate: 20 101 |2020

Principal emale - 12

Govt. Eklavya Collage

Dondi Lohara, Distt. Ball of Market - 5

(Signature & Seal of Head of the Institution)

Name (Capital Leters):
Govt.Eklavya Collage

Vardil abara Dicett Raled (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID Student Name	I PA		No. of Street,					Type: Fres		
Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1251479 MAHESHWARI NO SERNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	2092	2092	6862
1253383 GODAWARI NO SIRNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	2092	2092	6862
1255298 NEERAJ KUMAR	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2092	2092	6862
1266247 BHUPENDRA KUMAR	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2092	2092	6862
1281720 RINKU NO SURNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	2092	2092	
1304225 DANESHWARI BHUARYA	Female	M. A./Economics/I	Fresh	9	530	4770	0		2092	
1347446 GAIND LAL	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	
1359818 KUMARI MAHESHWARI	Female	B. Sc./Science/I	Fresh	10	300	3000	0		1742	
1360935 HEMANT KUMAR NO SURNAME	Male	M. A./Hindi/I	Fresh	9	530	4770	0		2092	
1376155 NAMRATA KUMARI	Female	M. A./Hindi/I	Fresh	9	530		0		2092	
1382261 MANISHA NO SIRNAME	Female	M. A./Economics/I	Fresh	8	530		0	+	2092	To the second
1393210 MRPAWAN KUMAR	Male	M. A./History/I	Fresh	9	530				2092	
1403408 TRIBHUVAN SINGH	Male	M. A./Hindi/I	Fresh	9	530					
1410440 MADHURI THAKUR	Female	M. A./Hindi/I	Fresh	9	530					
1418536 MANOHAR NETAM	Male	M. A./History/I	Fresh	9	530			At I You was a	-	
1445121 MINESHWARI KUMARI	Female	M. A./Hindi/I	Fresh	9	530		A - Company of the Co			and the second
1476731 BHUPESH KUMAR	Male	B. Sc./Science/I	Fresh	8	300			1747	-	
1625222 TEMIN FANFRE		B. Com./Commerce/I	Fresh	10	300				+	
		2. 22, 23	17 17	10	300	3000	Land Carried	1713	171	12 47

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is det

Place: Date :

Principal Govt Eklayva Collage Fomale - 10 Male - 12

(Signature & Sea Poincina)

Name (Chartafileters) Collage institutional Conditionara, Dissit. Balod (C.G.)

DondiLohara Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1619915 BAL SINGH PISDA	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	2092	2092	6862
1562380 INDU NONOSURNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0		2092	686
1476746 TIKESH WAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0		1712	441
1481552 JAISHWARI MASIA	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0		2092	686
1484495 ANJU NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0		1742	444
1493554 KUMARI KHEMLATA	Female	M. A./Economics/I	Fresh	9	530	4770	0		2092	
1494860 RAMESH TARAM	Male	B. A./Arts/III	Fresh	9	300	2700	0		1712	
1498444 VEENA KUMARI	Female	B. Sc./Science/II	Fresh	8	300	2400	0		1742	
1505937 SADHANA BHANDARI	Female	M. A./Economics/I	Fresh	9	530	4770	0		2092	
1514645 SUMAN NOSURNAME	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0			
1534614 KUMARI BEERAM	Female	M. A./Hindi/I	Fresh	9	530	4770	0			
1543519 KEKTEE NOSURNAME	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0			
1557840 PURNIMA KUMARI	Female	M. A./Economics/I	Fresh	9	530	4770	0			
1585737 MAYA BHUARYA NOSURNAME	Male	M. A./Hindi/I	Fresh	9	530	4770	0			
1619775 AVON KUMAR TARAM	Male	M. A./Pol. Science/I	Fresh	9	530	4770				
1627669 BHESH RAM	Male -	B. A./Arts/I	Fresh	10	300	3000				
1627690 DINESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000		1712		
1630876 CHUNESHWARI CHURENDRA	Female	B. A./Arts/I	Fresh	10	300	3000		1712		

### **Declaration:**

Place:

Date :

Principal
Govt Eklayva Collage

DondiLohara, Distt.Balod (C.G.)

male - 06-3

(Signature & Seal of Head of the Institution)

Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1631383	MANISHA CHURENDRA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1631432	VISHAKHA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1633896	KHUSHBU DEVHARI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1634366	SANGEETA BHUARYA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1634908	GANESHWAR SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1635028	TARIKA NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1635353	KIRAN RANA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1635414	PALLAVI GHARANA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1639413 F	RUKHMANI BARSEL	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712
1639621 5	SIPALI NETAM	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1712	1712	4412
1640087 H	HIMANGANI NO	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1645001 K	KEJASHWI KARCHAL	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1646544 L	EENA NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712
1646574 I	NDU NA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1646590 B	ARKHA RANI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1657178 B	HOJNARAYAN TARAM	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1656771 R	UPESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1656743 D	ROPATI NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Principal

Govi. Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

Female-15 Male-03

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1654571	KAMNI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1654540	KUNDAN LAL	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	474
1654503	BHUNESH NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1652459	KIRAN NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1651343	UMESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1627680	RANJU NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1634993	JHANENDRA GANWARE	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1641330	PARMANAND KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1646626	MANISHA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1742	1742	744
1646790	DAMINI NOSURNAME	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1742	1742	687
1649680	HITENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1649981	PUSHPA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1650074	TREEPTI NA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	441
1652313	MANISHA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1652499	UMESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	441
1654686	CHAMELI NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1657332	MAMTA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1658305 1	ALESHWARI NO	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	474

#### Declaration:

Place:

Date :

Jumi .

Female - 13 Male - 05

(Signature & Seal of the Institution)

Name (Capita Flearis) Collage Tondi Lohara, Disstt, Balod (C.G.)

Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1658218	VINAY KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1658601	KEWALRAM NO	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1659109	TANUJA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1659828	SHAILESHWARI NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1659945 F	REETU NA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1660922 N	MINAXI GANWARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1661711 K	AMTU RAM	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1661751 T	AMESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1661781 N	OOTAN NOSURNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	- 0	2092	2092	6862
1662279 RE	ENU NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1662376 JY	OTI THAKUR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	474
1663162 CH	IANDRAKANTA KOSMA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1663480 TIL	AK RAM	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	2 441
1663484 BH	UMIKA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	171	2 471
1664313 HAI	RSHANA DUGGA	Female	B. Sc. (Hons.)/Biology/I	Fresh	9	300	2700	0	1742	174	2 444
1664651 DOI	MIN THAKUR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742		
1664760 POC	DJA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712		
1666517 MON	VIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000				

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal

remate - 14-1

(Signature & Seal of Head of the Institution)

indil ohora Diestt Ralad (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

pplication ID Student Name	Gender	Course	Туре	No. of	0.00					
Company of the Compan	Gender	Course	Туре	Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1667896 NOMESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1668424 ROOPA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1668570 SHIVENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1668602 PADMA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1669131 POONAMCHAND BHURKHURIYA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1670660 PALESH KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1712	1712	4712
1670811 NETRAM NA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1670992 CHUMMAN LAL	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1675454 BUNDESHWARI NA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	
1675267 LUKESHWARI NOSUŔNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1675248 RADHIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	
1673470 VANITA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1671273 KRANTI BHAUSARYA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	2 444
1671739 TULSI RAWTE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1713	2 47:
1672164 MONIKA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712		
1672471 HULSEE NA	Female .	B. A./Arts/I	Fresh	10	300	3000	0	1712	<del> </del>	Carrier C. Indiana
1672570 GUNESHWARI NA	Female	B. A./Arts/I	Fresh	10	300	3000			-	

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defected.

Place:

Date :

Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.) Female - 12 Male - 05

(Signature & Seal Sindle and of the Institution)

Tame (Capital News Collage

Bondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

pplication ID	Student Name	Gender	Course					Applications	Type: Fres	h	
			Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1672707 VAND		Female	B. A./Arts/I	Fresh	10	300	3000	0	4744		
1674737 KAMII	NI RANA	Female	B. Sc./Science/I	Fresh	10	300	3000	-	1712	1712	4712
1677897 NAKU	L RAM	Male	B. A./Arts/I	Fresh	10	300			1742	1742	4742
1678703 BABIT	A THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000		1712	1712	4712
1679847 ANURA	ADHA PISDA	Female	B. A./Arts/I	Fresh	9		3000		1712	1712	4712
1681193 DINUR	AM NETAM	Male	B. Sc./Science/I	Fresh		300	2700	-	1712	1712	4412
1681235 DEEPE	NDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1681319 SUREK	HA NOSURNAME	Female	B. Sc./Science/I		10	300	3000	0	1742	1742	4742
1682429 SEVAN		Male		Fresh	10	300	3000	0	1742	1742	4742
1683049 SONAL		Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1683079 KHUSHI			B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
	SHWARI NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
		Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1683784 NISHA		Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	2 441
1683884 DEVEND		Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	171	2 471
1685045 NEELESI		Female	B. Sc. (Hons.)/Biology/I	Fresh	9	300	2700	0	1742	174	
1685140 RUPA K	ARAT	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712		
1685149 GAJENDE	RA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000		-		
1685632 NIKIT KI	JMAR	Male	B. A./Arts/I	Fresh	10	300	3000	-		-	

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....out of which Rs. ....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

> Principal Govt Eklayva Collage

Female - 11 Male - 07

(Signature & Seal of Head of the Institution)
Name Condital Level's Salod (C.G.)
Dondi Lohara, Disstt. Balod (C.G.)

DondiLohara Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type :

pplication ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1685692	REENA THAKUR	Female	B. A./Arts/I	Erech	Month	200	Allowance				
	SUBHAS KUMAR			Fresh	10	300	3000	0	1712	1712	4712
		Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1686585	KARUNA NOSURNAME	Female	B. Sc./Science/I	Fresh	- 10	300	3000	0	1742	1742	4742
1687520	ROSHAN KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1687797	TULESHWAR KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1688328	MOHANI NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1688485	SIMANT NOSURNAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1689205	ANJU TARAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1690537	NITESHWARI NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712
1691328	RUPESH KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1692637	SHEKHAR KHARE	Male	B. Com./Commerce/I	Fresh	10	300	3000	(	1712	1713	2 4712
1693275	BALKUMARI NA	Female	B. Com./Commerce/I	Fresh	10	300	3000		1712	171	2 4712
1693534 F	RAMESHWARI NA	Female	B. Com./Commerce/I	Fresh	10	300	3000		1712	2 171	471
1694609 S	EEMA NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000		0 171	2 171	12 471
1694758 M	IANEESHA NA	Female	B. A./Arts/I	Fresh	10	300	3000	)	0 171	2 17	12 471
1695247 J	ITESHWARI NA	Female	B. A./Arts/I	Fresh	9	300	2700	)	0 171	12 17	12 44
1695686 U	RMILA KOSMA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	0 174	42 17	742 47
1696190 A	SHWANI DUGGA	Female	B. A./Arts/I	Fresh	10	300	300	0	0 17	12 17	712 47

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular compaction/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal Govt. Eklavya Collage Formale - 12 male - 06

(Signature & Spaling blead of the Institution) Name (Capital Lever Collage C.G.)

DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

93029

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1698312 E	BHARTI NOSURNAME	Female	B. A./Arts/II	Fresh	8	300	2400	0	1712	1712	4112
1698534 k	KHUMAN SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1698674	SAJESHWAR SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1700712 k	CUSUMLATA DHALENDRA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1700025 N	NITIKA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1699300 E	BHUPENDRA KUMAR KHARE	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1699088 V	ANISHA NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712
1686442	DAMIN NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	4442
1699105 9	SEVAN MANKAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1701325 F	PURNIMA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1701795 I	NDRANI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1703200 R	RAJESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1703801 S	SANDEEP KUMAR URWASHA	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	2 4742
1705177	SANESHWARI TARAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	174	2 444
1705433 D	DAMINI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	171	2 441
1705581 C	CHANDAN BHUARYA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	171	2 471
1706133 C	HITRAREKHA BHUARYA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	174	2 444
1708318 H	EM LATA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	171	12 441

#### Declaration:

Place :

Principal

Female-12 Male -06

(Signature & Seal of Head of the Institution)

Name (Capital Cers)

Govt. Eklavya Cóllage

Govt. Eklavya Collage

Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/2/7/93029

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of	Rate		Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1709544 SAND	HYA THAKUR THAKUR	Female	B. A./Arts/I	Fresh	Month 10	300	Allowance 3000	0	1712	1712	4712
1709622 DINES	SH KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1712	1712	4412
1709769 SUNIL	KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1710351 LUKES	SHWARI NO	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	2092	2092	6862
1710352 KHULE	SHWAR KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1711694 PURNI	MA NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1713456 HELAN	NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1713654 UMESH	HWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
1715902 OMIN	NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4712
1717254 UPEEN	KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1718402 RUPA	RAWTE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	444
1719389 DURGE	SH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	441
1719400 RAKESI	H KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1719919 YOGES	HWAR THAKUR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	441
1719986 MANJU	NA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	441
1722557 YASHW	ANT KHARE	Male	B. Sc./Maths/I	Fresh	10	300	3000	0	1742	1742	474
1723035 SAVITA	KOSMA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1723240 FHULES	HWARI KOSMA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1742	1742	2 444

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Female - 10 -Male - 08

(Signature & Sealiniteinal of the Institution)

Name (Capital Libreya) Collage Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

N/9/5047/2/7/93029 Sanction Number :

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1730515 PAD	MA BHAVRE	Female	M. A./History/I	Fresh	9	530	4770	0	2092	2092	6862
1728160 SHA	SHI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1712	1712	4412
1726304 VED	PRAKASH MANDAVI	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	4742
1727666 MUN	IISH KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
		-				Total:	667520	0	360790	360790	1028310



Principal Govt. Eklavya Collage DondiLohara Distt.Balod (C.G.)

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Dond 1 Lehara Date : 20/01/2020

remote Female - 02-1

(Signature & Seal of the Institution) Name (Capital klareya) Collage Dondi Lohara, Disstt. Baled (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number : N/9/5047/2/7/93117

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1675408 AJA	Y KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	4712
A SEX STEP TO		The state of the s				Total:	3000	0	1712	1712	4712



Principal Govt. Eklavya Collage DondiLohara Diett Balod (C.G.)

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : 20/01/2020 Date : 20/01/2020

male-01

(Signature & Seal of Theina of the Institution)
Name (Cabital Leklary a Collage
Tondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

State: Government of Chhattisgarh Sanction Number:

R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

222785 RUSTAM SINGH	Male	B, A./Arts/II	Renewal	. 8	70	560	113	2092	2207	308
170989 BHUSHAN KUMAR	Male	M. A./Pol. Science/II	Renewal	8	110	880	115	2092		
132289 SHIVSHANKAR NO SERNAME	Male	M: A./History/II	Renewal	8	110	880	115	2092	2207	308
1129236 DALESHWAR NO SARNAME	Male	M. A./Hindi/II	Renewal	8	110	880	115	2092	2207	3087
1129040 YUVRAJ KUMAR NISHAD	Male	M. A./History/II	Renewal	8	110	880	115	2092	2207	3087
1119155 VINESHWAR KUMAR NO SERNAME	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	2387
906836 ANIL KLIMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
S56765 LOKESH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	2387
839161 JAGANNATH DEWAGAN	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
715009 NAMESH KUMAR SAHU	Male	M. A./History/II	Renewal	9	110	990	115	2092	2207	3197
680972 NAGESHWAR KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	2387
650,766 PUSHPENDRA KUMAR	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
630371 JITENDRA KUMAR YADAV	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
434243 DEEPAK KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
138117 VIDAY KUMAR SAHU	Male	M. A./Pol. Science/II	Renewal	8	110	880	115	2092	2207	3087
126829 DANESHWAR KUMAR SINHA	Male	M. A./Pol. Science/II	Renewal	9	110	990	115	2092	2207	3197
1653380 VIRENDRA KUMAR SAHU	Male	8. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to \_\_\_\_ I do here by sanctioning a sum of Rs. \_\_\_\_\_Out of which Rs. \_\_\_\_\_as maintenance allowance and Rs. \_\_\_\_\_as tuition and other fees. Printed copy of online cholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ny other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defected.

ace: bond i Zohara te: 20/01/2020



Principal Govt. Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

(Signature & Sobligtipeled of the institution) Name (Capitalitates Collage

Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

				100	4 4	0.5	ipplications i	pe. Renewa	11	
Application ID Student Name	Gen	der - Course	'Type	No rof	Rate Mai	ntenence Tü lowance	ition Fee 0	lier fee	oalfee Toa	L'Amount
1236111 SANTOSH KUMAR	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2407
1276185 IKESH KUMAR PATEL	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742		2487
1276648 RAJESH KUMAR	Male	B. Sc./Bio Technology/III	Renewal	9	70	630	115	1742	1857	2487
1283189 HARISH CHAND SINHA	Male	B. A./Arts/III	Renewal	0	70	630	115		1857	2487
1295507 SAKET KUMAR SAHU	Male	B. A./Arts/III	Renewal	9	70	630	The same of the	1712	1827	2457
1326109 RAJENDRA KUMAR	Male	B. A./Arts/III	Renewal	9		war and the same	115	1712	1827	2457
1331944 MANOJ KUMAR NOSURNAME	Male	B. A./Arts/III	Renewal		70	630	115	1712	1827	2457
1389827 KAPIL KUMAR SINHA	Male	B. A./Arts/II		9	70	630	115	1712	1827	2457
1398560 BHOJENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	8	70	560	115	1712	1827	2387
1399196 PANKAJ KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1404956 NITESH KUMAR			Renewal	9	70	630	115	1712	1827	2457
1419868 KAMDEV KUMAR	Male	B. A./Arts/III	Renewal	9.	70	630	115	1712	1827	2457
	Male	M. A./Hindi/II	Renewal	9	110	990	115	2092	2207	3197
1414349 JAGGU RAM	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1420592 MANOJ KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1424018 SHEETAL KUMAR	Male	B. Sc./Science/III	Renewal	9	70	*630	115	1742		
1430578 DHANESHWAR KUMAR SAHU	Male	B. A./Arts/III	Renewal	9	70	630			1857	2487
1504380 POSHAN KUMAR	Male	B. Sc./Science/II	Renewal	9	70		115	1712	1827	245
502365 SEEMAN KUMAR	Male	B. A./Arts/III	Renewal		- Tomas	630	115	1742	1857	248
on:	1	o. naniajii	Renewal	9	70	630	115	1712	1827	245

### **Declaration:**

lace :

18 M-

OS Ped Harta war

(Signature & Seal of Head of the Institution)
Name (Capital Let estage
Dondi Lohara, Disstt. Balod (C.G.)

Govt.Eklavya Collage

OondiLohara,Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date : 04/01/2020
Applications Type : Renewal

							pp			
Application ID Student Name	Gen	nder Course	Туре	No. of Month		ntenence Tui	tion Fee O	ther Fee To	otal Fee Tota	l Amount
1501595 BHUPESH KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1498704 YOGESH KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1439499 PRANAV KUMAR SAHU	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1473142 DEEPAK KUMAR SINHA	Male	B. Sc./Maths/III	Renewal	9	55	495	115	1742	1857	2352
1442285 TILENDRA KUMAR NO SURNAME	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
1440130 NITESH SINHA	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
1438190 DEEPAK KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1490397 AJAY KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	
1366325 YUVRAJ KUMAR RAUT	Male	B. A./Arts/II	Renewal	9	70	630	115	1712		2457
1482303 PREM SINGH	Male	B. A./Arts/II	Renewal	9	70	630	115		1827	2457
1488072 KOMAL NOSURNAME	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1488402 SURENDRA KUMAR	Male	B. A./Arts/III	Renewal	9	70		-	1712	1827	2457
1489527 BHAKTPRAHLAD SAHU	Male	B. Com./Commerce/II	Renewal	0		630	115	1712	1827	2457
1489900 HEMANT KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1492414 RAHUL KUMAR SINHA	Male	- Carlotte and a second	- University character	9	70	630	115	1712	1827	2457
1498058 TILOCHAN KUMAR PATEL		B. Sc. (Hons.)/Biology/II	Renewal	9	70	630	115	1742	1857	2487
The second of th	Male	B. Sc./Science/II	Renewal	9	70	630	115	1742	1857	248
1510001 SEVANT KUMAR	Male	B. Sc./Science/II	Renewal	9	70	630	115	1742	1857	248

#### eclaration:

Principal
Govt.Eklavya Collage
OondiLohara.Distt.Balod (C.G.)

(Signature & Statipal Head of the Institution)

Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date : 04/01/2020

Applications Type: Renewal

Application ID Student Name	Darlogeon bear melicina	TOREST MATERIAL STATES					пррповиона	Type. Rene	ewai	
Application ID Student Name	Gent	der Course	Туре	No-of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1514986 GOPICHAND PATEL	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	
1515583 THAMAN LAL	Male	B. Sc./Science/II	Renewal	9	70	630	115	1742	Tallana Land	2457
1515612 PANKAJ KUMAR	Male	B. Sc./Science/II	Renewal	9	70	630	115	1742	1857	2487
1520511 SHIVAM KUMAR MAHOBIYA	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1857	2487
1527170 HARISH KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1527705 SHAILENDRA YADU	Male	B. Sc./Science/II	Renewal	9	70	630	115	1712	1827	2457
1530612 DURGESH KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1857	2487
1539001 MUKESH KUMAR SINHA	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	2457
1543384 RIKHAM KUMAR YADAV	Male	B. A./Arts/II	Renewal	9.	70	630	115	1712	1827	2457
1543583 LITESHWAR KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1544331 MOHIT KUMAR	Male	B. Sc./Science/III	Renewal	9	70	630	115	1712	1827	- 2457
1547547 MITHLESH KUMAR NO	Male	B. A./Arts/II	Renewal	9	70	630	115	e de la constanti	1857	2487
1564292 TARUN KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	2457
1575614 CHIRANJIVI SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	man magni di diminandi di dia	1742	1857	2417
1577800 DHARMENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	70	The second second	115	1742	1857	2487
1584956 VENU KUMAR	Male	B. A./Arts/III	Renewal	9	70	•630	115	1712	1827	2457
1581721 BHUMESH KUMAR	Male	B. A./Arts/II	Renewal		Server will	630	115	1712	1827	2457
1588280 VIJENDRA KUMAR	Male	B. A./Arts/II		9	70	630	115	1712	1827	2457
2500200 TECHOIN ROPAR	iriale	D. A./AIC/II	Renewal	91	70	630	115	1712	1827	245

### **Declaration:**

Place:

Date :

Principal
Govt.Eklavya Collage

(Signature Rineinal Head of the Institution)

Nert (Ekhitaki Cellage Pondi Lohara, Disstt. Balod (C.G.)

DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date : 04/01/2020

pplication Sugar Name		OTT THE PROPERTY AND ADDRESS OF THE PARTY AND				Α,	pplications Ty	/pe: Renewa	al	
opplication in Subtrict Name :	(GEIII)	Course	Type	A SECULO PROPERTY OF THE PERSON OF THE PERSO	Rate Mai	ntenence jul	ion Fee 0		ofal Fee Lot	al Amoun
1602633 BHUPENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	8	70	ow-bit 5				
1615062 DHANESHWARSINGH NA	Male	B. A./Arts/II	Renewal	er en la la company		560	115	1712	1827	238
1629710 SUDHIR KUMAR PATEL	Male	B. Sc./Science/II	Renewal	9	70	630	115	1712	1827	245
1700273 DUSHYANT KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1742	1857	248
1698416 DURGESH KUMAR	Male	B. A./Arts/II		9	70	630	115	1712	1827	245
1694501 RUPESH KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1712	1827	238
1680394 MITESH DAS SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	248
1671344 RAVINDRA KUMAR NA	Male	B. A./Arts/III	Renewal	9	70	630	115	1742	1857	248
1511194 ASHWANI KUMAR	Male	B. Sc./Science/II	Renewal	9	70	630	115	1712	1827	245
1630948 BDESH KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1742	1857	248
1636061 JITENDRA KUMAR DEWANGAN			Renewal	8	70	560	115	1712	1827	238
1636118 CHIMAN LAL	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	245
1637000 TORAN KUMAR		B. A./Arts/II	Renewal	9	70	630	115	1712	1827	245
and the second s	Male	B. A./Arts/III	Renewal	9	70	630	115	1712	1827	245
1637461 SANGRASH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	238
1650353 JHAGGAR RAM	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	245
1650993 DEVPRASAD NIRMALKAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	238
1655871 DEVANAND BHARADHWAJ	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	238
1657842 DAULAT RAM	Male.	B. Com./Commerce/II	Renewal	9	70	630	115	1712	1827	245

### **Declaration:**

Place:

Date :

Principal

Principal
Govt-Eklavya-Gollage-

(Signature & Seal of Head of the Institution)

on til obora Disstt. Balod (C.G

DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020
Applications Type: Renewal

							ppiications Typ			
plication ID Student-Name.	(Gent)	er Course	Туре	No. of	<b>《大学的内容》</b> 《大学》	ntenence Tul	tion Fee Oti	ier fee T	otal Fee Total	Amount
1670085 DHANENDRA DAS SAHU	Male	B. Com./Commerce/II	Renewal	9	70	630	115	1712	1827	2457
1670493 ISHU KUMAR PATEL	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
1671238 NAKUL RAM	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1677266 SANTOSH KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1692830 BHANESHWAR SAHU	Male	B. A./Arts/II	Renewal	8	70	560	115	1712	1827	2387
1701942 CHAITANYA KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1725625 LOMESH KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115:	1712	1827	2457
1709237 DEVENDRA KUMAR	Male	B. A./Arts/II	Renewal	9	70	630	115	1712	1827	2457
1703259 TEKRAM NOSURNAME	Male	B. Sc./Science/III	Renewal	9	70	630	115	1742	1857	2487
563533 PRATIMA SAHU	Female	M. A./Economics/II	Renewal	8	120	960	0	2092	2092	3052
714698 JYOTI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
721704 JHAMIT NISHAD	Female	M. A./Pol. Science/II	Renewal	9	120	1080	0	2092	2092	3172
723377 JHAMITA PATEL	Female	M. A./Pol. Science/II	Renewal	9	120	1080	0	2092	2092	3172
827647 LUMEEN SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0:	1742	1742	250
827992 BHAVNA KUMBHKAR	Female	B. Sc./Science/III	Renewal	9	85	. 765	0	1742	1742	250
828494 OMESHWARI PATEL	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	250
830737 MANISHA KUMARI	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	24
847378 CHANDNI SAHU	Female	M. A./Economics/II	Renewal	9	120	1080	0	2092	2092	317

### **Declaration:**

Place : Date :

MARIE STAR 9 MIN

og Dondi

Principal

Govt.Eklavya Collage):

Pandil obara Disstt.Balod (C.G.)

re & Seal of Head of the Institution)

Govi. Eklavya Collage

OondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

lication ID Student Name	Gende	Course	Туре	No. of F	Rate Main	tenence Tuitio	on Fee Oth	erfee. To	tal Fee Total	Amount
935940 KAVITA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	250
936672 NUTAN SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	247
1212694 TANUJA SAHU 1268651 REENA YADU	Female	M. A./Hindi/II	Renewal	9	120	1080	0	2092	2092	31
1279880 VASHUKI NOSURNAME	Female	M. A./HIndi/II	Renewal	9	120	1080	0	2092	2092	31
	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	24
1264704 KHUSHBOO NO SURNAME	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742		
1288667 RENUKA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765		- 700	1742	25
1440105 PREETILATA NOSURNAME	Female	B. Sc./Science/III	Renewal	8	85		0	1742	1742	25
1432530 GAYATREE SAHU	Female	B. Sc./Science/III	Renewal	9		680	0	1742	1742	24
1428988 JYOTI NOSURNAME	Female	B. A./Arts/III	Renewal		85	765	0	1742	1742	25
1428592 KAMINI NO SURNAME	Female	B. Sc./Science/III	100 (100 (100 (100 (100 (100 (100 (100	9	85	765	0	1712	1712	24
1429464 POOJA SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1742	1742	2.
1351991 ISHWARI NOSURNAME			Renewal	9	85	765	0	1712	1712	24
	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	24
1254566 MEERA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2
1255145 HEMLATA NO SIRNAME	Female	B. A./Arts/III	Renewal	9	85	765	0			
1249727 CHITREKHA NO SERNAME	Female	B. Sc./Science/III	Renewal	9	85			1712	1712	2
248869 LALITA DEWANGAN	Female	B. A./Arts/III .	Renewal			765	0	1742	1742	2
353288 YOGESHWARI SAHU				9	85	765	0.	1712	1712	2
TOOLSHITARE SAITU	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2

### Declaration:

Place : Date :

18-f-2

CHEWA COLOR

Jumi 1

(Signature & Seal of Head of the Institution)
Name (Capital Lefers):

Govt. Eklavya Collage

Govt.Eklavya Collage

OondiLohara.Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

olication ID	Student Name	Gender	Course	Туре	No. of Month		intenence l	Cuition Fee .0	ther Fee	Total Fee Total	Amount
1355240 NIR	MALA PATEL	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1355429 DIV	YA KUMARI	Female	B. Sc./Science/II	Renewal	9	85	765	- 0	1742	1742	2507
1370576 BHA	GYASHRI KUMARI	Female	B. A./Arts/III	Renewal	9.	85	765	0	1712	1712	2477
1381880 TULI	ESHWARI KUMARI	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1382982 YOG	ITA NA	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1387449 ROH	AND THE PERSON OF THE PERSON O	Female	B. A./Arts/111	Renewal	9	85	765	0	1712	1712	2477
	SHWARI DEWANGAN	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	247
1396129 Ku		Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	247
and the same of th	HANI NO SURNAME	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1712	1712	247
	SHWARI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742		
1406094 CHAI	NCHAL NO SURNAME	Female	B. Sc./Science/III	Renewal	q	85				1742	250
1408367 TARA	NI KUMARI	Female	B. A./Arts/III	Renewal			765	U	1742	1742	250
1410852 HOME	SHWARI NO SIRNAME	Female	B. Sc./Science/III	Renewal	W	85	765	0	1712	1712	247
1342371 KU D	A STATE OF THE PARTY OF THE PAR	Female	Control of the contro	THE RESERVE	9	85	765	0	1742	1742	250
	AREKHA NOSURNAME		B. A./Arts/III	Renewal	, 9	85	765	0	1712	1712	24
		Female	B. Sc./Science/III	Renewal	9	85	765	. 0	1742	1742	25
1413402 DRAUF		Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	25
1418131 REEMA	SAHU	Female	B. Sc./Science/III .	Renewal	9	85	765			13.42	
1419028 MAMTA	NO SURNAME	Female	B. A./Arts/II	Renewal	- 8			Carried Internal	1742	1742	25
ion :		· Sindic	o. r.yrii Gy II	Kellewal	8	85	680	0	1712	1712	23

### Dec

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

18-f

(Signature Risear of Head of the Institution)

Principal Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date : 04/01/2020 Applications Type : Renewal

lication ID Student Name	Gende	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee T	otal Amount
1420170 LALESHWARI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1420681 REEMA NO SERNAME	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1421119 BINDU PATEL	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1422953 RESHMA KUMARI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1426308 SUNITA KUMARI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1441387 RUKHMANI NO SERNAME	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1444690 YAMINI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0		1742	2507
1447825 TUMESHWARI KUMARI	Female	B. Com./Commerce/II	Renewal	9	85	765			1712	2477
1480972 CHANDRAKALA NOSURNAME	Female	B. A./Arts/II	Renewal	9	85	765	0			
1488102 YAMINI NISHAD	Female	B. Sc./Science/II	Renewal	9	85	765			1712 1742	2477
1490199 HIMANSHI DEWANGAN	Female	B. A./Arts/II	Renewal	9	85	765	0		1712	2507
1492445 CHANDNI SINHA	Female	B. A./Arts/II	Renewal	9	85	765			1712	2477
1498599 HEMLATA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	85	765			1712	250
1500323 PRIYANKA SAHU	Female	B. Sc./Science/II	Renewal	9	85	765			1742	250
1505519 MANISHA NOSURNAME	Female	B. A./Arts/II	Renewal	9	85	.765	111 m	100-	1712	247
1505610 TIKESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	9	85	765		A STATE OF THE STA	1712	247
1506161 YAMESHWARI NOSIRNAME	Female	B. A./Arts/II	Renewal	8	85	680				
1510036 NEHA DEWANGAN	Female	B. A./Arts/II	Renewal	9	85	765			1712 1712	239

#### Declaration:

Place:

Date :

18 f



Principal

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Gov. Eklavya Collage

Govt.Eklavya Collage

DondiLohara.Distt.Balod (C.G.)

Government of Chhattisgarh

State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

plication ID. Student Name	cende	Course	Туре	No. of - Month -	CONTRACTOR OF THE PARTY OF THE	intenence. Tui	tion Fee O	ther Fee	Total Fee T	otal Amoun
1510125 VIDYA DEWANGAN	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1510806 DEEPIKA YADAV	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1712	1712	247
1512436 RITU SAHU	Female	B. A./Arts/II	Renewal	9	- 85	765	0	1712	1712	24
1513544 SAVITRI DEWANGAN	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1513801 DILESHWARI PATEL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1515651 DIPTI NOSURNAME	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	247
1515820 NEHA DEWANGAN	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	247
1519747 RAKHI SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1522894 PAYAL YADAV	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	247
1524144 KAUSHILYA PATEL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1524316 TRIPLA YADAV	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1556159 KUMARI MUKESHWARI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1555499 HEMA NO	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	247
1555227 AASHISH KUMAR	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	247
1553540 VENUKA DIDI	Female	B. A./Arts/II	Renewal	9	85	765	. 0	1712	1712	24
1549513 MANJU YADAV	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	24
1543408 GAGAN NISHAD	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	25
1543261 REKHA YADAW	Female	M. A./Hindi/II	Renewal	9	120	1080	0	2092	2092	31

#### **Declaration:**

Place : Date :

18-F

e in the second of the second

Jumi .

(Signature & Seal of Head of the Institution)
Name (Capital Leters)
Gov. Eklavya Collage
Tongil chars, Bisstt Balod (C.G.)

Principal
Govt.Eklavya Collage
DondiLohara Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme : Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

pplication ID Student Name	Aller Control of the Control					Ap	plications Typ	e: Renewa	əl	
pplication ID Student Name	Gender	Course	Туре	No. of			ion Fee Ot	ier Fee T	otal Fee Tot	al Amount
1505668 GAYATRI NOSURNAME	Female	B. A./Arts/II	Renewal	Month		Allowance			remain the	
1526631 JYOTI SAHU	Female	B. Sc./Science/III		9	85	765	0	1712	1712	2477
1530198 NEERAJ SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1742	1742	2507
1533627 LEKHPAL NOSURNAME	Female	B. A./Arts/II	Renewal	9	- 85	765	0 .	1712	1712	2477
1534798 NOMITA VISHWAKARMA	Female	B. Sc./Science/III	Renewal	9	85	765	0	1712	1712	2477
1536513 NEHA DEWANGAN	Female	B. A./Arts/II	Renewal	9	85	765	0	1742	1742	2507
1538997 YAMINI YAARDA	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1543728 PRIYA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1712	1712	2477
1562624 LAXMI PATEL	Female	B. A./Arts/II	Renewal	9	85	765	0	1742	1742	2507
1565727 MINAKSHI DEWANGAN	Female	B. Sc./Science/II	Renewal	9	85	765	0	1712	1712	2477
1566648 NEMIN NO	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1742	1742	2507
1567802 CHANCHAL NOSURNAME	Female	B. Sc./Science/II	Renewal	9	85	765	0	1712	1712	2477
1570880 PEMIN NOSURNAME	Female	B. A./Arts/II		9	85	765	0	1742	1742	2507
1571000 CHITREKHA NOSURNAME	Female	B. A./Arts/II	Renewal		85	765	0	1712	1712	2477
1572024 GEETA SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	2477
1573989 POOJA SINHA			Renewal	9	85	765	0	1712	1712	2477
1575077 GUNITA SEN	Female	B. Sc. (Hons.)/Zoology/III	Renewal	9	85	765	0	1742	1742	2507
	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	250
1575910 SARITA NO	Female	B. A./Arts/II	Renewal	91	85	765	0	1712	1712	247

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

Principal

Name of Petal Vetershage arg Disstt Balod (C.G.

(Signature & peal of Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020 Applications Type

ation ID Student Name						Ар	plications Typ	e. Kene	wai	
cation ID Student Name	Gende	Course	Туре	No. of			on Fee Otl	ier Fee	Total Fee Tot	al Amount
1584460 SONAM NOSIRNAME	Female	B. Sc./Science/II		Month	and distributed by our contract to constitution	lowance				The Later
1579558 TULESHWARI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1742	1742	2507
1587304 YOGITA NO	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1580745 BHUNESHWARI PATEL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1712	1712	2477
1594739 SADHANA BAI	Female	B. A./Arts/III	Renewal	9.	85	765	0	1742	1742	2507
1596437 SAPNA NOSURNAME	Female	B. Sc./Science/II	Renewal	9.	85	765	0	1712	1712	2477
1580188 KAJAL DESHMUKH	Female	B. Sc./Science/II	Renewal	9	85	765	- 0	1742	1742	2507
1636702 POOJA DESHMUKH	Female	B. A./Arts/III	Renewal	9	85	765	- 0	1742	1742	2507
1636658 MAMTA ATAL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1712	1712	2477
1595747 VARSHA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	2507
1644944 MINAKSHEE HIRWANI	Female	**************************************	Renewal	9	85	765	0	1742	1742	2507
1600284 DIVYA NO		B. Com./Commerce/II	Renewal	9	85	765	0	1712	1712	2477
	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	2477
1644611 DHANESHWARI PATEL	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	2477
1617207 MANISHA YADAV	Female	B. A./Arts/II	Renewal	8	85	680	. 0	1712	1712	2392
1650820 GEETANJALI SAHU	Female	B. Sc./Science/II	Renewal	9	85	765 •	0	1742	1742	250
655699 NISHA BHARATDVAJ	Female	B. A./Arts/II	Renewal	8	85	680	0	1712	1712	239
657724 HEMLATA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1712	1712	239
662592 BHUMIKA NOSURNAME	Female	B. A./Arts/III	Renewal	9	85	765	0	1712	1712	247

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

ate:

Padding Salat Tank - Title



Principal Govt. Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

(Signature & Sea Pointered of the Institution)

Name (Cenita Alekerya Collage Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/3/10/93044

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID Student Name	Gender	Course	Туре	No. of	Rate Ma	aintenence T	uition Fee	Other Fee	Total Fee T	otal Amount
1667982 AISHWARIYA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	2507
1676359 SONAM NA	Female	B. A./Arts/II	Renewal	9	85	765	0	1712	1712	2477
1700862 BABITA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1742	1742	2507
1707915 DULESHWARI NOSURNAME	Female	B. Sc./Science/II	Renewal	9	85	765	0	1742	1742	2507
					Total :	156535	11155	381316	392471	549006



Principal
Govt.Eklavya Collage
OondiLohara.Distt.Balod (C.G.)

### **Declaration:**

Place: Dond / Lohard Date: 20/01/2020 (Signature & September of the Institution)

Name (Garicellisty's Collage Dondillohnra Disstt Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

23041

e: Government of Chhattisgarh

Sanction Number:

N/9/5047/3/10/93041

Sanction Date: 04/01/2020

Applications Type: Fresh

olication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
1702381 YACHNA NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1712	1712	2412
711534 DHARMENDRA KUMAR	Male	M. A./Hindi/I	Fresh	9	100	900	115	-	2207	3107
1252951 KISHOR KUMAR VISHWAKARMA	Male	M. A./History/I	Fresh	8	100	800	115		2207	3007
1255614 UMESH KUMAR	Male	M. A./Economics/I	Fresh	9	100	900	115		2207	3107
1268631 PARAKHMANI SAHU	Male	M. A./History/I	Fresh	9	100	900	115	2092	2207	3107
1278080 SURYAKANT DEWANGAN	Male	M. A./Pol. Science/I	Fresh	9	100	900	115		2207	3107
1282047 GULSHAN SAHU	Male	M. A./History/I	Fresh	9	100	900	115	2092	2207	3107
1284059 DIPANSHU HIRWANI	Male	M. A./Hindi/I	Fresh	9	100	900	115	2092	2207	3107
1389063 MUKESH KUMAR	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	2092	2207	3107
1309377 PRASHANT KUMAR	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	2092	2207	3107
1635297 MUKESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	2377
1336287 DOMESHWAR KUMAR DEWANGAN	Male	B. Sc./Science/I	Fresh	10	55	550	115	1742	1857	240
1419229 GAJENDRA KUMAR	Male .	M. A./Economics/I	Fresh	9	100	900	115	2092	2207	310
1660230 BHUPENDRA KUMAR	Male ,	B. A./Arts/III	Fresh	9	70	630	115	1712	1827	245
1637144 UDAY KUMAR VISHWAKARMA	Male, .	M. A./Economics/I	Fresh	9	100	900	115	2092	2207	310
1641240 DINESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	237
1670504 TEJ PRATAP	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	237

#### **Declaration:**

Place: Don't Lohary Date: 20101 12020

1- tm

Donnd Donnd

-5

(Signature & Seal of Head of the Institution)

Name (Capital Letters);

Govt. Eklavya Collage

Dendil obara Disstt Ralod (C.C.)

Principal \_\_\_\_\_ Govt.Eklavya Collage OondiLohara.Distt.Balod.(C.G.)

-

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/3/10/93041

Sanction Date: 04/01/2020

Applications Type : Fresh

					and the same of the		and the second	Applications i	ype. Hes		
pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee C	Other Fee	Total Fee	<b>Total Amount</b>
1662504 S	AURABH KUMAR SAHU	Maļe	B. Com./Commerce/I	Fresh	10	55	550	115	1712	1827	2377
1674884 R	OSHAN KUMAR	Male	B. Com./Commerce/I	Fresh	10	55	550	115	1712	1827	2377
1679946 3	AYPRAKASH KALIHARI	Male	B. Sc./Science/I	Fresh	9	55	495	115	1742	1857	2352
1680650 TI	EMCHANDRAPAL DHANKAR	Male	B. Com./Commerce/I	Fresh	10	- 55	550	115	1712	1827	2377
1683346 M	AYANK NOSURNAME	Male.	B. Sc./Science/I	Fresh	10	55	550	115	1742	1857	2407
1691297 SA	ANTOSH KUMAR	Male	B. Sc./Science/I	Fresh	9	55	495	115	1742	1857	2352
1698247 DI	ULAR SINGH	Male	B. A./Arts/I	Fresh	10	55	550		1712	1827	2377
1698411 SA	ANJAY KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	2377
1698861 HI	RENDRA KUMAR DEWANGAN	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	the same of the
1699144 RA	UESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	Language Comment
1711184 KH	IUMAN LAL	Male	B. Com./Commerce/I	Fresh	10	55	550	115	1712	1827	
1719152 AJA	AY KUMAR DEWANGAN	Male	B. A./Arts/I	Fresh	10	55	550	115	1712	1827	2377
821235 DH	IANESHWARI PATEL	Female .	M. A./Pol. Science/I	Fresh	9	110	990	0	2092	2092	3082
726908 PAY	YAL SONKAR	Female	M. A./Economics/I	Fresh	9	110	990	0	2092	2092	2 3082
842311 SEV	VANTI LARIYAWANSI	Female ·	M. A./Hindi/I	Fresh	9	110	990	0	2092	209	2 3082
1202219 DIV	MA SAHU	Female	M. A./Hindi/I	Fresh	9	110	990	0	2092	209	2 3082
1230074 HEN	MA NOSURNAME	Female '	M. A./Economics/I	Fresh	9	110	990	0	2092	209	2 3083
1250814 KHI	LESHWAREE SAHU	Female '	M. A./Economics/I	Fresh	10	110	1100	0	2092	209	of the same

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ny other regular scholarship/stipend the fact will be immediately reported the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

lace: ate :

Principal Govt. Eklavya Collage OondiLohara Distr. Balod (C.G.) (Signature & Sept of the Institution)

Name Gaviteklates Collage
CondiLohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

N/9/5047/3/10/93041 Sanction Number :

Sanction Date: 04/01/2020

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1251359 MAMA	TA KUMARI	Female	M. A./Pol. Science/I	Fresh	9	110	990	0	2092	2092	3082
1253633 DHARI	MIN NO SIRNAME	Female	M. A./Hindi/I	Fresh	9	110	990	0	2092	2092	3082
1296447 SATYA	WATI SONBOIR	Female	M. A./Economics/I	Fresh	9	110	990	0	2092	2092	3082
1368160 ANJAL	NOSURNAME	Female	M. A./Pol. Science/I	Fresh	9	110	990	0	2092	2092	3082
1372299 MADHA SURNA		Female	M. A./Pol. Science/I	Fresh	9	110	990	0	2092	2092	3082
1411886 NARMA	DA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2372
1483013 SUKRIT	A KARSEL	Female	M. A./Hindi/I	Fresh	9	110	990	0	2092	2092	308:
1490298 KUMAR	I RUKHAMANI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	237
1521319 PRATIM	IA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	244
1521618 RESHMI	SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	244
1527772 PADMAN	NEE DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2 237
1615937 MEENA	YADAV	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2 244
1627144 HEMA S	AHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	174	2 24
1628681 YAMINI	NO	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	171	2 23
1650621 TIKESHW	VARI NOSURNAME	Female	B. Sc./Science/I	Fresh	10	70	700	C	1742		
1635275 MANISHA	PATEL	Female	B. A./Arts/I	Fresh	10	70	700	(	1712		
1651955 POONAM	DESHMUKH	Female	B. Sc./Science/I	Fresh	9	55		-	-	+	

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

17-fm

Principal

Govt-Eklavva-Collag-

(Signature & pan applead of the Institution) Name (Kapitahlete Collage

AmdiLohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/3/10/93041

Sanction Date: 04/01/2020

Applications Type : Fresh

plication ID	Student Name	Gender	Course						Type: Fres		
1657440	出		Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	<b>Total Amount</b>
	SHEELU NA	Female	B. A./Arts/I	Fresh	10	70	700		1712		
The second secon	BHARTI MATIYARA	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	241
1674431	KESARI SINHA	Female	B. A./Arts/I	Fresh	9			0	1712	1712	2342
1667995	GITANJALI PATEL	Female	B. A./Arts/I	Fresh	**************************************	70	630	0	1712	1712	2342
1665496	SUMAN SONKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1712	1712	2342
1663750	TULESHWARI NA	Female	B. A./Arts/I		9	70	630	0	1742	1742	2372
1660916	DEEPIKA PATEL	Female	B. A./Arts/II	Fresh	10	70	700	0	1742	1742	2442
The second second	PRIYANKA NOSURNAME	Female		Fresh	9	85	765	0	1712	1712	2477
	NAMRATA NA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2442
	DEVIKA NA	-	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2442
	LKA YADAW	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
-	Total Control of the	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2417
75.00	MAMTA PATEL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	
	EETA NISHAD	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	
1655933 Y	OGITA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	
1656039 V	ANDANA SINHA	Female ,	B. Sc./Science/I	Fresh	10	70	700	0	1742		
1657248 D	ILESH NOSURNAME	Female	B. Sc./Science/I	Fresh	10	70	700			1742	
1632611 M	ANISHA YADAW	Female	B. Sc./Science/I	Fresh	10	70		0	1742	1742	
1638887 DI	HAVIKA NISHAD	Female	M. A./Pol. Science/I	Fresh			700	0	1742	1742	244
ation :	A STATE OF THE PROPERTY OF THE	1. 0	r.i., r on ocience/1	riesii	9	110	990	0	2092	2092	308

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported with for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal Govt. Eklavya Collage DondiLohara, Diett.Balod (C.G.) (Signature & Seal of Head of the Institution)

Name (Cariarinaters) : Govt. Eklavya Collage

Government of Chhattisgarh

State : Government of Chhattisgarh

State: Covernment of Chinatagon.

Sanction Number: N/9/5047/3/10/93041

Sanction Date : 04/01/2020

Applications Type: Fresh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1641308	RUPESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	2342
1648702	MAMTA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1649834	HIMANEE NA	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1668005	KALPANA NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1668435	MADHU DESHMUKH	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2442
1669713	NEETU CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2372
1671629	AARTI NO	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1672126	BHARTI SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2372
1672863 F	PRATIBHA SINHA	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1674714 K	KIRAN NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1679987 K	CUMARI TUKESHWARI	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2417
1680486 D	OMESHWARI DHANKAR	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	234
1681095 H	IARISH KUMAR	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2 244
1681178 D	EEPIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2 237
1681292 M	IANJUSHA NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	171	
	AKSHI CHANDRAKAR	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	174	2 244
1686333 NE		Female	B. A./Arts/I	Fresh	9	70	630	0	1712	171	2 23
	HEETAL PATEL	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	174	2 23

#### **Declaration:**

Place :

Date :

Principal

Signature & Seal of Head of the Institution)

Govt Eklavya Collage

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/3/10/93041

Sanction Date: 04/01/2020

pplication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1684803 KAJAL YADAV	Female	B. A./Arts/I	Fresh	10	70	700	0	1742	1742	2442
1688037 RENUKA NA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2442
1685019 KUMARI KHEMLATA	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1690792 RENUKA SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	2342
1695481 ANITA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	
1692771 MONA NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1695514 DAMINI NO	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2417
1696329 SNEHA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	237
1725333 RENU YADU	Female	M. A./Hindi/I	Fresh	9	110	990	0	2092	2092	308
1692374 DAMAYANTI NOSURNAME	Female	B. Sc./Science/II	Fresh	9	85	765	0	1742	1742	250
1715627 JYOTI NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2 241
1676786 BHAVESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	2 234
1681354 ANJALI NOSURNAME	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	1742	2 237
1682014 TANUJA DEWANGAN	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2 24
1682041 SADHANA CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	171	2 24
1697821 CHANDRA KALA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	174	2 24
1699678 BHUNESHWARI NA	Female	B. Sc./Science/I	Fresh	10	70	700	0 0	1742	174	12 24
1700546 RITESHWARI DESHMUKH	Female	B. Sc./Science/I	Fresh	9	70	630		1742	174	12 23

### **Declaration:**

Place:

Date:

Principal

(Signature & Seal of Head of the Institution)

Principal Govt. Eklavya Collage

Soul-Eklawya-Gollag andi Lohara, Disstt. Balod (C.G.

DondiLohara, Diett. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



Government of Chhattisgarh

Sanction Number: N/9/5047/3/10/93041

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1701832	HULASI DEVI	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1712	1712	2412
1705429	MAHESHWARI SINHA	Female	B. Sc./Science/I	Fresh	9	70	630	-		1742	2372
1706786	MAMYUTI NA	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1707077	MADHU SINHA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	2442
1708285	DINESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	2412
1711138	RUPESHWARI SAHU	Female	B. Com./Commerce/I	Fresh	10	70	700	- 0	1712	1712	2412
1711405	ANJU SONKAR	Female	B. Sc./Science/I	Fresh	10	70	700	0	1742	1742	244
1712447	SHWETA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	241
1712816 F	POONAM NO	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	1712	241
1713073	GITANJALEE SINHA	Female	B. A./Arts/I	Fresh	9	70	630	0	1712	1712	2 234
1715224 F	PRATIMA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1742	174	2 237
1685309 L	LUKESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1712	171	2 24:
1697552 A	AMAR LAL	Male	B. A./Arts/I	Fresh	9	55	495	115	1712	182	7 23
1716458 S	SANJU YADAV	Male	B. Com./Commerce/I	Fresh	10	55	550	115	1712	182	7 23
		A Minester				Total :	85510	3565	216170	21973	5 3052

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected

Place:

Date :

Principal

(Signature & Seal of Freed of the Institution) Name (CGNt&Filelung Collage TondiLohara, Disstt. Balod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme:

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number :

R/9/5047/1/9/93045

Sanction Date: 04/01/2020

Applications Type: Renewal

1519095 DEVNTEEN NOSURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	4
1666413 TARUN KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	. 1712	
1648270 VEENA BARLE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1712	1712	
1593094 VARSHA MESHRAM	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	
1586946 ROMIN BANJARE	Female	B. A./Arts/II	Renewal	9	300	2700	10	1712	1712	
1562823 DAMESHWARI TANDAN	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	
1539520 DHEERAJ MAHESHWARI	Mále	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	
1529262 KARAN KUMAR	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	
1523962 HOMANSHU NOSURNAME	Male	B. A./Arts/II	Renewal	9	300	2700	0	1712	1712	
1519372 MANISHA JAGNAYAK	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1712	1712	
518213 RAKESH KUMAR JAGNAYAK	Male	B. A./Arts/III	Renewal	9;	300	2700	0	1712	1712	
512539 GHANENDRA KUMAR MALEKAR	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	
507253 NEHA GAYAKWAD	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	
505693 KIRAN NOSURNAME	Female	B. Sc./Science/II	Renewal ,	9	300	2700	0	1742	1742	
505679 DEEPIKA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	
505543 VANDANA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	
498679 AMRITA NOSURNAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1742	1742	

Declaration:

F-11

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the result of the regular scholarship stipend from the period it is detected.

Place: Dondi Lohara Date : 20/01/2020

Principal Govt. Eklavya Collage DondiLohara Distt.Balod (C.G.) (Signature & Seal Criffe Bolof the Institution)
Name (Capital Edleysp. Collage
Dondi Lohara, Disstt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

TITUE SHOWE THE THE THE TO THE SERVICE

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/5047/1/9/93045

Sanction Date : 04/01/2020

Applications Type: Renewal

cation ID Student Name	Gender	Course	Туре	No. of Month	Rate 👍	Maintenence Allowance	Tuition Fee O	ther Fee	Total Fee To	tal Amount
1498536 KHILESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4412
1254211 KAMANI KUMARI	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1341180 ATUL KUMAR	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1742	1742	4442
1341115 CHIKLESHWARI AMDO	Female	B. A./Arts/III	Renewal	9	300	2700	0	1712	1712	4417
1411617 PRIYANKA BARLE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1742		414
1412092 CHANDRAKANTA JOSHI	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1742		444
1414314 LALITA MALEKAR	Female	B. Sc./Science/II	Renewal	9	300			9201 100		
1416056 SATISH KUMAR	Male	B. A./Arts/III	Renewal	0	300			1742		444
1435127 JIGYASU DESHLAHRE	Male	M. A./Pol. Science/II	Renewal					1712	2 1712	44
1439232 RANJANA KUMARI	Female	B. A./Arts/III	The contract of the	8	530	424	0	2092	2 2092	63
1443784 SANDHYA MESHRAM		The resemble and as the resemble	Renewal	9	300	270	0 0	1717	2 1712	44
the property of the second	Female	M. A./Hindi/II	Renewal	8	530	424	0 0	209	2 2092	63
1494537 KANCHAN DESHLAHRE	Female	B. Sc./Science/II	Renewal	9	300	270	0	174		
			of the same of			reference to the second	Commence of the same of	1/4.	2 1742	44
the state of the s		the state of the s			Total	8078	0 0	5085	8 50858	1310

**Declaration:** 

F-9-

. Neutre de l'entre : l'esté le la comma donne margin e l'est boiloit

Place :

Principal

(Signature & Seal rinki pabl of the Institution)
Name (Capital kereya) Collage

WondiLohara, Disstt. Balod (C.G.)

Govt.Eklavya Collage

OondiLohara,Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Calegory:

Aklavya College Doundilohara Distt.Balod

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/5047/1/9/92978

Sanction Date: 04/01/2020 Applications Type: Fresh

1168730 SAJAN KUMAR	Male	M. A./Pol. Science/II	Fresh	994UAU   271	530	4240		2092	2092	6332
1626191 SANGEETA NO	Female	M. A./Hindi/I	Fresh	9	530	4770	0	2092	2092	6862
1626278 URWASHI NO	Female	B. A./Arts/I	Fresh	10	300	3000	0	1712		
1633091 UMA BARLE	Female	B. A./Arts/I	Fresh	10	300	3000			1712	4712
1635181 LALITA TANDIYA	Female	B. A./Arts/I	Fresh	10	300	the second	0	1712	1712	4712
1638934 VIBHA JAGNAYAK	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1712	1712	4717
1646510 PANKAJ KUMAR MALEKAR	Male	B. Sc./Science/I	Fresh	10		3000	-0	1712	1712	4712
1649396 DEVIKA JOSHI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1742	1742	474
1726798 KAJAL NOSURNAME	Female	B. A./Arts/I	Fresh		300	3000	0	1712	1712	471
1706136 ROMAN KUMAR MALEKAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1712	1712	471
1705919 YASH KUMAR	Male	B. Sc./Science/I		10	300	3000	0	1712	1712	471
1705787 KAUSHAL KUMAR MALEKAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1742	1742	474
1696272 DEVDAS TANDAN	Male		Fresh	9	300	2700	0	1712	1712	441
695657 DEVASHISH BANJARE		B. Sc./Science/I	Fresh	10	300	3000	0	1742	1742	474
	Male	B. Sc./Science/I	Fresh	10	300	3000	0 -	1742		
690885 MONIKA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000			1742	474
690160 PREETI KAUSHAL	Female	B. A./Arts/I	Fresh	10	300	the same of the same	0	1712	1712	47:
581135 BHUPESH KUMAR	Male	B. Sc./Science/I		A LAND LA		3000	0	1712	1712	47:
		o. co., science, s	Fresh	10	300	3000	0	1742	1742	474

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Dar & 1 Lotian ate: 26/6/12020

Principal

(Signature & Seal of Head of the Institution) Named Capital Letershage Finalil.chara, Disstt.Balod (C.G.)

Govt. Eklavya Collage DondiLohara Distt.Balod (C.G.)

State: Government of Chhaltisgarh

Sanction Number: N/9/5047/1/9/92978

Sanction Date: 04/01/2020

Applications Type: Fresh

Institute Name: Aklavya College Doundilohara Distt.Balod Academic Year: 2019-20

Category: SC

Scholarship Scheme: Post Matric SC Scholarship

1675497 KANKSHI KAUSHAL	Female	B. A./Arts/I	Fresh	10	The second second	ntenence rulti Iswanice			E COL	THE THE TANK
1675129 NAVEEN KUMAR	Male	B. Com./Commerce/I	Fresh		300	3000	0	1712	1712	47
1672038 TRIVENI NO	Female	B. Sc./Science/I		10	300	3000	0	1712	1712	4
1670817 REKHPAL NO	Male	B. A./Arts/I	Fresh	10	300	3000	0	1742	1742	4
1665372 VARSHA KAMDHE	Female	B. Sc./Science/I	Fresh	10	300	3000	Ó	1712	1712	4
1659550 HINA NA	Female		Fresh	10	300	3000	0	1742	1742	
1650430 LOMESHWARI NA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1742		4
	remale B. A./Arts/I	Fresh	10	300	3000	0	No large Section 1	1742	4	
					Total:	74710		1712	1712	



Principal . Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Declaration:

F-5

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Detrol Letia) 9. Date : 20/6L/2026

(Signature & Seal of Head of the Institution)

Nema (Capital leterale

Dendtl.ohnra, Disstt.Balod (C.G.)